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Question Number : 1 Question Id : 64635012223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is an example of higher order of cognitive learning outcome?
(1) Learning of facts and their sequences
(2) Learning roles and action sequences
(3) Learning of concepte and abstractions

(4) Learning of awareness and valuing

Options:
64535048099, 1



E4535048100. 2
645350458101, 3
64535045102, 4

Question Number : 1 Question Id : 64635012223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350432099, 1

64535042100, 2

645350458101, 2

64535043102, 4

Question Number : 2 Question Id : 64635012224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following i=s the kev behaviour contributing to effective teaching?
(1) Summarising what was teld by a student

{2) Encouraging students to elaborate on an answer

(3) Using direct and indirect questioning
{4} Explaining concepts in a la gic al step b:.' step presentation
Options:

64535048103, 1
64535045104, 2
64535045105, 3
E4E35048106. 4

Question Number : 2 Question Id : 64635012224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafetan 5 |+ WA At | e e S o5 17
(1) Torsh fomnefi gro =8 wh = =1 =0 F=m =
(@ = = = ofem frrs 3 Rl = siafm ==
(3) WM W eI WA WA i AEATE I FE
(4) = wef g mies w9 4 s i s s

Options:

64535048103, 1
4835045104, 2
4535048105 2
64535045106, 4

Question Number : 3 Question Id : 64635012225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Instructions which encourage live participation and interaction through online classes are

called

(1) Synchronous instructions (2} Asvnchronous instructions

{3) Traditional instructions (4) Theoretical instructions
Options:

E4535048107. 1
645350458108, 2
64535045109, 3
64535045110, 4

Question Number : 3 Question Id : 64635012225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043107, 1
E4E35048108. 2
E4E350458109. 3
64535045110, 4

Question Number : 4 Question Id : 64635012226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the elements of evaluation plan?

ia) Purpose
{h) Resources
ie) Analysiz

(d) Aunthority

Select the correct answer from the options given below:

(1) (a) and (c) (2) (b)only
(3) {b), {e) and (d) 4) (a), (b) and ()
Options:

64535045111, 1
E4E35048112. 2
E45350458113. 2
64535045114, 4

Question Number : 4 Question Id : 64635012226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350458111, 1
645350458112, 2
645350458113, 3
E4E35048114. 4

Question Number : 5 Question Id : 64635012227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which tvpe of evaluation focusses on the identification of deficiencies and difficulties of the
learner?

(1) Summative evaluation
(2) Follow up evaluation
(3) Diagnostic evaluation
(4)  Criterion — referenced evaluation
Options:
64535045115 1
64535045116, 2
64535048117, 5
64535045115, 4

Question Number : 5 Question Id : 64635012227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350431151

64535048116, 2

64535048117, 2

E4AE35048115. 4

Question Number : 6 Question Id : 64635012228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Position papers are

{1) Compiling of academic articles

{2y Providing review articles

{3} Offering a synopsis of an extended research
4 Highlighting of izsues and depiction of status

Options:

64535048119, 1
64535045120, 2
64535048121, 5
64535045122, 4

Question Number : 6 Question Id : 64635012228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

646350458119, 1
4835045120 2
4535045121, 5
64535048122, 4

Question Number : 7 Question |d : 64635012229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Casze studies are

(1) Studies conducted in areas of genetics and microbiology

{2) In-depth examination of a subject and its related conditions
(3)  Areport onthe exizsting socio-political condition

4) Specialized research in the areas of health and sanitation

Options:

64635048123, 1
64535045124, 2
64535045125 =
4835045126 4

Question Number : 7 Question Id : 64635012229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535045123 1
64635048124 2



E4535048125. 3
B4535048126. 4

Question Number : 8 Question Id : 64635012230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A hypothesis iz

(1) A certain and established finding

(2) A part of the research question

{3} A strategv of evaluating data

(4) A tentative statement providing an explanation
Options:

64535048127, 1
645350458128, 2
E4E35048129. 3
E4E350458120. 4

Question Number : 8 Question Id : 64635012230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635048127, 1
64535045128, 2
64535045129 =
4835045120 4

Question Number : 9 Question Id : 64635012231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tertiary source of data is
(1) Films, hoardings and posters
(2 Government gazette, newspapers and magazines
(3)  Information derived from both primary and secondary sources
) Data collected from policy papers

Options:

46350451251, 1
64535048132, 2
64535045133 =
64535045134 4

Question Number : 9 Question Id : 64635012231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646350458131, 1

64635048132 2

E4E35045133 2

64635045134, 4

Question Number : 10 Question Id : 64635012232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From the following list identify the qualitative research characteristics and select vour
answer from the codes given below:
(1} Creating purpose statements and research gquestions
(ii) Stating the purpose and rezearch questions in a broad way
iiii) Cellecting data based on words from a small number of individuals
(iv) Collecting numeric data and statistical analyeis

iv) Using text analvsis and interpreting larger meanings of the findings

Code:

(1) (ii), (iii) and (v) (2) (1), (ii) and (iii)

(3 (1), (ii) and (iv) (4) (i), (i11) and (v)
Options:

645350458135, 1
E4E35048136. 2
E4E35048137. 3
6453504581358, 4

Question Number : 10 Question Id : 64635012232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fTeTET e | e Y @ el w1 v A G T g | w0 e it
(i) TR FYE U WY g AR

(ii) T TE ¥ TS W WY 95 5

(iii) FFEA F T T TR W AT F AR AFF WA FA

(iv) = SiFg =1 SUEn T Siegsrs Eree

(v) e Femm w1 S S0 ae g o s ol o sarEn s

L T

(1) (i), (i) 3 (v) (2) (i), (i) = (iid)
(3 (@), G () (4) (@), (i) # T v)
Options:

6453504581351
645350451356, 2
E4E35048137. 3
E4535048138. 4



Sub-Section Number: 2
Sub-Section 1d: 646350577
Question Shuffling Allowed : Yes

Question Id : 64635012233 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension

ERead the following passage and answer gquestions

Ferhaps what bothered the media in 19705 was the shift in liberty being suggested. For
centuries, journalists had operated on the basis of negative liberty, or freedom from external
restraints. Suddenly, however, the thrust was positive freedom, a freedom for pursuit of
zome predetermined goals. This new social responsibility zeems grounded on a school of
thought that sees negative liberty as insufficient and ineffective, somewhat like telling
people they arve free to walk without first making sure they are not crippled. Who better than
government is able to provide humanity with appropriate means? Government, even a
democratic government, iz seen by social responsibility adherents az the only foree strong
encugh to guarantes effective operation of freedom. This doss not mollify observers who find
zocial responsibility to be only slightly disguised version of authoritarianism Media
philosopher John Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated is ludicrous.
Journalists, he savs, must retain their freedom to make their own news and editorial
judgements. Even well intentioned attempts by outside groups seeking media improvement
are zelf serving, and inevitably lezsen the autonomy of journalists, Merrill maintains.
This leads us to the issue of media autonomy.

Sub questions

Question Number : 11 Question Id : 64635012234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the basiz of the operation of journalists earlier?

(1) Freedom of limited choices (2) Social responsibility
(3) Free from outside pressure (4) Government eontrol
Options:

645350458139, 1
64535045140, 2
E4E35048141. 3
EAE35045142. 4

Question Number : 12 Question Id : 64635012235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poszitive freedom means

(1) Grounded thought {2) Purszuing eertain set goals
(3 Freedom with conditions (4) Providing identified means
Options:

E4535048143. 1
64535045144, 2
64535045145, 3
64535045146, 4

Question Number : 13 Question Id : 64635012236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Some scholars consider social responsibility aspect of media as

(1) Negative freedom (2) Pluralism
(3) Democratization of media (4) Authoritarianism
Options:

64535045147, 1
64535045148, 2
64535045149, 3
E4E35048150. 4

Question Number : 14 Question Id : 64635012237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to, John Merrill, seeking improvement in media, is

(1) Appropriate (2) Well-intentioned
3 Inevitable (4) Self-serving
Options:

645350458151, 1
645350458152, 2
64535045152, 3
E4E35048154. 4

Question Number : 15 Question Id : 64635012238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The passage eritically analvses
(1) Operation of journalists
(2) Mandate for government
(3) Social responsibility theory of media
4 Remimented autonomy of journalists
Options:
4535045155, 1
E4525048156. 2
E4535045157. =
64535045158 4

Question Id : 64635012233 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635012234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535048135, 1
64535045140, 2
64535045141, 3
E4E35048142. 4

Question Number : 12 Question Id : 64635012235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045143, 1
4835045144 2
4535045145 =2
64535045146, 4

Question Number : 13 Question Id : 64635012236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045147, 1
64535045148, 2
E4E35048149. 3
E4E350458150. 4

Question Number : 14 Question Id : 64635012237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350458151, 1
E4535048152. 2
E4535048153. 3
64535045154, 4

Question Number : 15 Question Id : 64635012238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

646350458155, 1

64535048156, 2

64635048157 2

4535045155 4

Sub-Section Number: 3
Sub-Section 1d: 646350578
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635012239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A):  Media entertainment does not enhance the cultural level of society.

Reazon (R): Most media entertainment encourages ezcapism, not content guality

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 15 true, but (R) 1s false

i4) (A) iz falze, but (R) iz true

Options:

645350458159, 1
64535043160, 2
64835045161, 2
64535045162, 4

Question Number : 16 Question Id : 64635012239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635045159, 1
64535048160, 2
64535045161, =
64535045162, 4

Question Number : 17 Question Id : 64635012240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Communieation through colours can result in
{a) Aesthetic codes
{b) Cultural codes
{e) Semantic codes
(d) Binaryv codes

Choosze the correet answer from the options given below:

(I} (a)and(d) 2y (b) and {(c)
(3)  (b)and (d) 4} (a)and (b)
Options:

645350458162, 1
E4E35048164. 2
E4535048165. 3
64535048166, 4



Question Number : 17 Question Id : 64635012240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535048163. 1
645350458164, 2
64535045165, 3
64535045166, 4

Question Number : 18 Question Id : 64635012241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the communication process, signs derive meanings through
(1) The subjectivity of various components
(2) The objectivity of the decoder
(3 The network of inter-relations

4) The neutrality of the channel

Options:

45350458167, 1
64535048168, 2
64535045169 =
64535043170, 4

Question Number : 18 Question Id : 64635012241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535043167, 1

64535043168, 2

64535043169, 3

E4525045170. 4

Question Number : 19 Question Id : 64635012242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Language of communication also constitutes

(1) The random world {2} The social world
(@)  The divine world {4} The unsanctified world
Options:

645350458171, 1
E4E35048172. 2
E4E35048173. 3
645350458174, 4

Question Number : 19 Question Id : 64635012242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535048171. 1
64535048172 2
645350458173, 3
64535045174, 4

Question Number : 20 Question Id : 64635012243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Connotative communication inside the elassroom is

(1) Direct (2) Critical
(3) Implicit (4) E=xplicit
Options:

64535048175, 1
645350458176, 2
E4E35048177. 3
E4E35048178. 4

Question Number : 20 Question Id : 64635012243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35048175. 1
E4E35048176. 2
64535048177, 3
64535045175, 4

Question Number : 21 Question Id : 64635012244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Choosze the mizsing term out of the given alternatives : QPO NML, EJI,

(1) HGF (Z) CAB
(3) JEL 4y GHI
Options:

645350458179, 1
E4E35048180. 2
E4E35048181. 2
64535048182, 4

Question Number : 21 Question Id : 64635012244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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QPO, NML, KJI,

(1) HGF (Z) CAB
# JKL (4 GHI
Options:

64535048179, 1
64535045180, 2
E4E35048181. 3
E4E35048182. 4

Question Number : 22 Question Id : 64635012245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The zum of all even natural numbers between 1 and 21 is

(1) 3280 (Z)y 3321
51] 1646 (4) 1840
Options:

64535048183, 1
645350458184, 2
645350458185, 3
64535045186, 4

Question Number : 22 Question Id : 64635012245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
dEma 1 @i 81 ¥ 4= = =9 mgfos Sema = oam
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(3 1646 (4) 1640
Options:

E4535048183. 1
E45350458184. 2
645350458185, 3
64535045186, 4



Question Number : 23 Question Id : 64635012246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a bag, there ave coins of 5 ps, 10 ps and 25 psin the ratio of 3:2:1. If there are Re. 80 in all
how many 5 ps coins are there?

(1) 100 (2 200
(% 300 (4) 400
Options:

E4E35048187. 1
64535048188, 2
645350458189, 3
64535045130, 4

Question Number : 23 Question Id : 64635012246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 100 (& 200
(3 300 (4 400
Options:

E4E35048187. 1
64535048188, 2
64535045189, 3
64535045130, 4

Question Number : 24 Question Id : 64635012247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mansj's commizsion is 10% on all sales upto Rs. 10,000 and 5% on all sales exceeding this.

He remits Rs. 75,500 to his company after deducting his commission. The total sales will
come out to be

{I) Rs. 78000 {2y Rs. 80,000
(3  Hs 85,000 {4y Rs, 90,000
Options:

645350458191, 1
645350451392, 2
645350451392, 3
E4E3504581394. 4

Question Number : 24 Question Id : 64635012247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F T 10,000 7= $ fikt & == 1 wiioe 10% @ v o #1500 F sme w9 5% R
W FHEH HEH % AE A% FFH FFE F T 75,000 woR w0 #) T 1 % ae0ta am 3y

(1) ¥ 78,000 {2) %30000
(3 ¥ 85,000 4) T 20,000

Options:



E4535048191. 1
64535048182, 2
6453504581383, 3
645350451394, 4

Question Number : 25 Question Id : 64635012248 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
The simple interest on a certain sum of money for 3 vears at 4% per annum is half the

compound interest on Re. 2,000 for 2 vears at 10% per annum, The sum invested on simple
interest iz

(1) Re. 8750 (2) Re. 1,750
(3 Rs. 2,500 (40 Rs. 3,500
Options:

6453504581595, 1
645350451396, 2
64535045137, 3
E4E350481395. 4

Question Number : 25 Question Id : 64635012248 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

foredt vt w 4% ot & T E 3 & = mumm s € 2000 $ geuin R Tw 10% wids S m e 2
i ¥ Twglg TF F A R WmuT e § ey T e #5 i am A7

(1) T 8,700 2y TL7a0
)] ® 2,500 {4y * 3500
Options:

E4535048195. 1
E4535048196. 2
6453504581397, 3
645350451358, 4

Question Number : 26 Question Id : 64635012249 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

If proposition ‘some milk is eurd’ is taken to be true then which of the following propositions
can bE' fﬂlEE?

(1) No milk i= curd {2y All milk is curd
(3 Some curd is milk {4} Some milk is not curd
Options:

E4E35048199. 1
E4E35048200. 2
64535048201, 3
64535045202, 4

Question Number : 26 Question Id : 64635012249 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



Itz 7 T To T T AW ¥ F W 9 9w Fetatan suR a5 2 | e wm e

(1) wrdgm o o wm R (2) =+ 78 o g R
(3 FowHwEmY 4 ¥o 78 = o gm
Options:

E45350481945. 1
E4E35048200. 2
64535048201, 3
E453504520Z2. 4

Question Number : 27 Question Id : 64635012250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions eould be validly drawn from the premizes?
Premises: (i) All cats are dogs

(11) All dogs are cows

Conclusions:

{a) All cats are cows
(b} Some cows are cats
{c) All dogs are cats
(d) Nocow isdog

Select the correct answer from the options given below:

(1) (b, (c) and (d) (2) (d)only
3) (a)and (b) 4 (b)and (d)
Options:

E4535048203. 1
E4535048204. 2
64535048205, 3
64535045206, 4

Question Number : 27 Question Id : 64635012250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9/ 7 e are e e # Faam A e e o #) o Al | Reetehan 9 8 w90 e
et = o E7

AT A (1) = g 54 )
(ii) =] Eu_;l T #

foreprd - (a) =t fafzsi T 8)
(b) F T Tt £
(c) =it %= Tagdh &
(d) = o T R

Jr= fim o faeed O O ot 3w 1 == Sfa

(1) (b}, (c) =i (d) (2) === (d)
(3) (a2 b 4 (b)#id)
Options:

E4E35048203. 1
E4E350458204. 2
64535048205, 3



EAE35048206. 4

Question Number : 28 Question Id : 64635012251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which method of arriving at knowledge the emphasiz is on both proceeding from

particular to general and from general to particular in a combined way?

(1) Inductive method
(2) Deductive method
{3) Scientific method
{4) Analogieal method
Options:
E4E25045207. 1
64535045208, 2
64635043209 2
64535048210 4

Question Number : 28 Question Id : 64635012251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 7% T4 1 fEm fafa § dgw e @ fafe & anrm @ o ofn e @ fafm o smoEm W
7= fam = 2

(1) s fafy

(3 T i

(3) e fafy
(4 HgEs fafa
Options:

64535048207, 1
64535045208, 2
E4E35048208. 3
EAE35048210. 4

Question Number : 29 Question Id : 64635012252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifj.‘ the reasoning in the follmving arguments

‘A pilot without flight plans is like an artist without paints’.

(1) Analogical {2}  Deductive
(3) Induetive (4) Hypothetical
Options:

64535048211, 1
645350458212, 2
E4535048213. 3
E4E35048214. 4



Question Number : 29 Question Id : 64635012252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frtalias 7= aag § T & TH0 W TEaE ey

fam el 7=m O aren R, TION % 9 FEET & TE g A

(1) o= (2) T
{3} AT (4 O
Options:

E4E35048211. 1
E4E3504821%2. 2
64535048213, 3
64535045214, 4

Question Number : 30 Question Id : 64635012253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The proposition ‘some trees are green’ is equivalent to which of the following propoesitions?
{a) Many trees are green

(b}  Some green things are trees

() Some green things are not non-trees

id) Trees are usually green

Select the correct answer from the options given below:
(1) (&), (&), () and (d)
(2)  (b)and (d)
(3 {a) only
4 (c)and (d)
Options:
64535045215 1
64835043216 2

645350458217, 3
E4EZ35048215. 4

Question Number : 30 Question Id : 64635012253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T o Yo R ¥ Frefofen § @ fe vhew ¥ wed 27
(&) = Tw

(b) %= 7l == 9z 4|

(©) %o ¥ = -1 7 #

(d) W F A A

gt fom o forre & & wh T TR i
D (@), (), (@) #h(d)

(2) (b))

(3) wEr(a)

@ (o) ()

Options:

64535048215, 1
64535048216, 2
64535043217, 2
4835045218 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

4
646350579
Yes

Question Id : 64635012254 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

Consider the following two tables (I and II) that show the percentage wise distribution (%) of
the number of laptops sold by a shopkeeper during a period of six months from April to
September 2018 and the ratio between the number of laptops sold of brand HF (H) and
brand DELL (D) during the same six monthe A total of 45000 laptops have been sold during
these six months. Study these tables I and II and answer the questions that follow

I. Sale of laptops Month wise II. Laptops Brand Ratio
Name of Month | % of Lapteps | | Name of Month | Ratis
April 17 H|D
May 22 April 8|7
June 25 May 4156
July g8 June 3|2
August 12 July 7]5
September 16 August 718

September 7|9

Sub questions

Question Number : 31 Question Id : 64635012255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of the number of laptops sold of brand D during April to those sold during
September of the same brand?

(1) 119 : 145 (2 116:1356
(3) 119 : 135 4 119:130
Options:

645350482159, 1
645350458220, 2
64535045221, 3
EAEZ5048222. 4

Question Number : 32 Question Id : 64635012256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 35% of the laptops =old of brand H during August were sold at a discount, how many
laptops of brand H during that month were sold without a discount?

(1) 8a2 (2y 1835
(3) 1638 4 B85
Options:

64535048223, 1
64535045224, 2
EAE35048225. 3
EAE35048226. 4

Question Number : 33 Question Id : 64635012257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the chop keeperearned a profit of ¥ 434 on each laptop cold of brand D during July, what
was his total profit earned on the laptops of that brand during the same month?

i1 T 6,51,900 {(2) ¥ 6465000
(3 £ 6,49, 500 {4) T 6,51,000
Options:

EAE35048227. 1
E4E35048228. 2
BAE35048225. 3
64535045230, 4

Question Number : 34 Question Id : 64635012258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of laptops sold of brand H during April is approximately what percent of the
number of laptops zold of brand H during September?

() 110 (2) 140
(3) 130 4 130
Options:

645350482351, 1
EAE35048232. 2
E4E35048233. 3
E4E535048234. 4



Question Number : 35 Question Id : 64635012259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the total number of laptops gold of brand D during May and June together?

(1) 9800 (%) 10000
(3) 10500 (4) 15000
Options:

E4E35048235. 1
EAE35048236. 2
EAE35048237. 3
64535045238, 4

Question Id : 64635012254 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension

Frafafian & mifemmad (1 o I1) w0 fem 0 o oim, 2018 & fiman, 2018 7% & o 9+ &
2T T R 0 F T Aveia i e w1 wiveran G (% 9) i e #) e f, 59 5w
= ¥@y F 2= #vs HP (H) # #vs DELL (D) ¥ = 7o @y 1 w2 5 4= o5 = o
T T 1 o % e % 45000 Seey # fa ) wien [ et W e woTan Se
fom o w9 =1 I 2

I #mefe & ofmam fslt | | L @y wfvsi =1 o
E A A % | | Wi o A | aEem
e 17 H|D
i 22 April 8 | 7
= 25 May 4 | D
ﬁﬂ'li 8 June 312
T 12 July T|6
fean 16 August 7(8
September T |=

Sub questions

Question Number : 31 Question Id : 64635012255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SMEtE I DEs R MATN A sh i e s i R M A T =

e R

{1y 119:145 {2 116:135
(3) 119: 135 i4) 119:130
Options:

64535048219, 1
64535045220, 2
E4E35048221. 3
BAE35048222. 4

Question Number : 32 Question Id : 64635012256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



R F g ars H % dwfu 35% % foms (o) e ma s sfH s g as H+
faem dwefy famn frome % 39 mo?

(1) asa2 (& 1635
i3 1838 (4) 885
Options:

64535048223, 1
64535048224, 2
EAE35048225. 3
EAE35048226. 4

Question Number : 33 Question Id : 64635012257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afg, TR F For % 2 wive D # wed Aedt # W T 434 1 e 1 W s e F 2
T AivE & AT W e o W fEen e

(1) ¥ 6,51,900 (2) T 646500
{3) ¥ 6,40,500 {4 ®§,51,000
Options:

64535048227, 1
64535048228, 2
EAE35048229. 3
EAE35048230. 4

Question Number : 34 Question Id : 64635012258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferer & 2 wfs H 5 39 e fwfe 5 guw 5 wim fey afrmm =9 #ive 5 9 sfo d 39 my

(1) 110 (2) 140
{3 130 4 130
Options:

64535048231, 1
EAE35048232. 2
EAE35048233. 3
EAE35048234. 4

Question Number : 35 Question Id : 64635012259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=i #R 97 o wE w e @ve D % % e ae i

(1) 9500 (2) 10000
3 10500 (4) 15000
Options:

E4E35048235. 1
EAE35048236. 2
EAE35048237. 3



EAE35048235. 4

Sub-Section Number: 5
Sub-Section 1d: 646350580
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635012260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why would BCC: be used in an &-mail?

(1) BCC: allows the recipient to identify all the other recipients in the list when a group
email address is used

(4] BCC: allows the sender to indicate who the email is for if there is more than one

recipient

(3 BCC: allows the sender of a message to conceal the recipient entered inthe BCC: fisld

from the other recipients
i4) BCC: allows recipients to be vizible to all other recipients of the message
Options:
E4E35048239. 1
E4E35048240. 2
645350458241, 3
64535045242, 4

Question Number : 36 Question Id : 64635012260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7w § BCC : =1 waim =9 fem = &7

(1) == e @ Fm = v fem = 2 1 Sfid BOC - % e 9 99 9 & o = sfatr 4
TR ¥ HET B

F L Y

2 TEoswidsiEiiMEH ARG IEECC. T EMTE R it
T s fom 2

(3) ol &89 = I9s BCC: % wam & BCC : Fivs & wiae St 36 we=m o= wfufrai & foar e
R 3

(4 HfEft BCC . =1 wam = e &9 & o wofi sl =50 2w wen €

Options:

C4EZE045229. 1

C4e2E045240. 2

CAEZE048241. 2

CAEZE045242. 4

Question Number : 37 Question Id : 64635012261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



With respect to computers, which one of the following best deseribes phishing?
{1} A malicious program installed on a svztem that staye concealed to avoid detection

tﬁj A method of b}'passing normal authentication prucedureﬁ. over a connection to a

network
(d) A tvpe of unsolicited bulk email of identical messages sent to numerous recipients

(4) An attempt to acquire sensitive information for malicious reasons, by masquerading
as a trustworthy entity
Options:
E45350452435 1
64535045244 2
64635043245 2
64535045246, 4

Question Number : 37 Question Id : 64635012261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fro & wed |, Featatas 5 @ i9-w feHm (phishing) 1 wEiias dw =9 § sanEaara & 27

() == fores = omntm o glen o w1 v o E® a=e % fom e v w2
(2) fodh Sk & e S5 W oraen e W W aries w5 A
(3) = IR % TS T wee we (BEE) W T W w1 e av e

(4) o Fvawa zaltE & =9 H SUEY T gHiG B HEEATTE SHET T S w1
Options:
64535043243 1
64535043244 2
64535043245 =
GAR3E043246. 4

Question Number : 38 Question Id : 64635012262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an example of proprietary system software?

(1) Linux (2} Mierosoft Internet explover
()] Microsoft office (4 Microsoft windows
Options:

E4E35048247. 1
E4E35048248. 2
64535048245, 3
64535048250, 4

Question Number : 38 Question Id : 64635012262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafafian & § Fi3-m W fows Siwam w1 e

(1) e (2) =TSR T W
(3)  wrERmEiE WEE (4) = e
Options:

64535048247, 1
64535045248, 2
64535045249, 3
E4E35048250. 4

Question Number : 39 Question Id : 64635012263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jatin’z laptop has a LCD sereen. The acronym LCD stands for :
(1) Light Crystal Display

(2) Liquid Compact Display

(3 Light Compact Display

(4) Liguid Crystal Display

Options:

64635048251, 1
64535048252, 2
64535043253 2
E4E35043254 4

Question Number : 39 Question Id : 64635012263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= % whedte § U T H % S 31 LCD Fratatan o | feee diamen 27

(1) vz fFemm f=@t (Light Crystal Display)

(2 ffre =iedge 529 (Liguid Compact Display)
{3) = w9z 7= (Light Compact Display)
(4) fafre frmzw feot (Liguid Crvetal Display)

Options:

64535045251 1
64535048252, 2
64535048252 o
64535045254, 4

Question Number : 40 Question Id : 64635012264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A computer network which is used within a building is called a

(1) WAN
(2) MAN
{3  LAN
i4) SAN
Options:

64535048255, 1
E4E35048256. 2
EAE35048257. 3
E4E35048258. 4

Question Number : 40 Question Id : 64635012264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forelt wam & o T SETen SRR Ao 27

(1) WAN
2) MAN
(3) LAN
4) SAN
Options:

64535048255, 1
64535048256, 2
64535048257, 3
E4E35048258. 4

Question Number : 41 Question Id : 64635012265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following dizasters belongs to the category of nuclear disasters?
(a) Fukushima dizaster

(b} Chernobv] disaster

() Three mile Island incident

{d) The love canal disaster

Choose vour answer from the options given below:

(13 (&), (b) and (e)

(2 (a), (B) and (d)

(3] (a), (c) and (d)

(4) (b), (e) and (d)

Options:
64535045259 1



EAE35048260. 2
64535048261, 3
BAE3504826%. 4

Question Number : 41 Question Id : 64635012265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafes & 8 33 = s ity s 0 a0l = st 27
(8) FEEE A
(b) =T ATy
() ot mrgw wedE W
() T2 v e feamm
fret fam o Fedl 5 9 9 3 1 =99 ey

Tz
() (a), (b) 3 (e
2 (a), (b) ()
3 (a), () #(d)

4 (b}, (c) = {d)

Options:

64535048259, 1
64535048260, 2
64535048261, =
4835045262, 4

Question Number : 42 Question Id : 64635012266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement I -  Most of the member countries in the International solar Alliance are
located between the tropic of cancer and tropic of Capricorn

Statement [I — Japan is a member country of the International solar alliance,

Which of the above statement isfare correct?

(1) I only {2y IIonly
(3 EothI and II (4) Neither I nor II
Options:

64535048263, 1
64535045264, 2
64535045265, 3
EAEZ5048266. 4

Question Number : 42 Question Id : 64635012266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535048263, 1
64535045264, 2
E4E35048265. 3
EAE35048266. 4

Question Number : 43 Question Id : 64635012267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements in the context of Millennium Development Goals (MDGs)
adopted by the United Nations

{a) [Eradicate extreme poverty and hunger
)  Impreve maternal health

i} Responsible consumption and produetion
id) Reduce child mortality

Choose the correct answer from the options given below

(I) (&), (b)and () (2) (b)), (e} and (d)
(3  (a), (b)and (d) (4) (a), (c) and (d)
Options:

64535048267, 1
64535045268, 2
64535045269, 3
EAEZ5048270. 4

Question Number : 43 Question Id : 64635012267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HF TE G A T TEere P med (MDG) % = & Pttt we w e fif?
{a) =% fefm ot el = =g
(b) T TEEE H R
(€) SotEmamET S #Hit semeA
(d) =TE FE-TF FFA
dret Tom o fereal & © W 99 w1 W iy

T
(1 (a), (b) ¥ () (2 (), () #(d)
3 (), (b) 3 () (4 (a), (c) 3 ()

Options:

64535048267, 1
64535048268, 2
64535045269, 3
EAEZ5048270. 4

Question Number : 44 Question Id : 64635012268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Assertion (A) - Night time temperatures in the central parts of a city are generally higher

than those over the surrounding rural areas

Beason (B)- Radiation losses over the urban areas are less than that over the rural

areas

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(:3) (A) is true but (R) is false

(4) (A) iz falze but (R) iz true

Options:

64535048271, 1
E4E35048272. 2
E4E350482732. 2
4535048274, 4

Question Number : 44 Question Id : 64635012268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At (A) - Tt wrer = To7 W E T F NS SU0-TT0 F TEW A9 % SSwieE e o
e W At B 2
T (R): TE B H gETEl TErR R W &6 § geE e wEE | R g 2

4= i o faeewl 5§ W I = w99 wian

() (A &R ®) 7= =6 1 R), (A) F =6 e

(2} (A) ¥R (R) =9 =8 # v (R), (A) F w6 e 9 R
(3 (A Tt = (R) T #

4 (A Ewa R) w2
Options:
64535043271, 1
64G35048272. 2
E4AR3E048273 2
64535045274, 4

Question Number : 45 Question Id : 64635012269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Pariz Agreement aims to limit the temperature rise in thiz centurv by how many

degrees Celsius above the pre-industrial levels?

(1) 1°C & PC
3 05°C 4 3°C
Options:

E4E35048275. 1
EAE35048276. 2
BAE35048277. 3
64535045275, 4

Question Number : 45 Question Id : 64635012269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ui FAH F FEI I WA | G At F - i T | e 5 afthes s it
FET
@ 1°c @ 2C
(3 0.5°C 4 3°C
Options:

64535048275, 1
64535048276, 2
E4E350458277. 3
EAEZ5048275. 4

Question Number : 46 Question Id : 64635012270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following coordinates, promotes and funds research activities of all =oeial
sciences disciplines?

(1) ICPR, New Delhi

(2) ITAS, Shimla

1] ICS5R, New Delhi

(d) NUEPA, New Delhi

Options:

64535048279, 1
64535048280, 2
64535048281, =
4835045282 4

Question Number : 46 Question Id : 64635012270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pt & 2 s gwn oo fama 6 oot srened <6t s wiafata =0 o = 2, 391 mmmE

1 2 st T fEm = R
(1) ICPR, # f&di
(2)  IIAS, fimen

(3) ICSSR, 7¢ figt
{4 NUEPA, = &
Options:
LdE3E0482749 1
CAEZEN4AEZE0, 2

E4E35048281. 3
EAE35048282. 4

Question Number : 47 Question Id : 64635012271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"Gvanvami” launched by IGNOU to cover the educational needs of India refers to
(1) Satellite based edueational T V. channel

(2) Educational F.M. Radic network

{3) Global imitative of academic networks
{4 MOOCs
Options:

64535048283, 1
64535045284, 2
645350458285, 3
EAE35048286. 4

Question Number : 47 Question Id : 64635012271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T WA Fi A T S w5 e #6172

(1) TqrE i fahes F S
2y g Tew. = G
(3)  wrTeeE Toww 4 ATes T

4 RS
Options:
64535043253, 1
64535043284, 2
64535043285 2
GAR3E048286. 4

Question Number : 48 Question Id : 64635012272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A special focus on the problems of examination svstem of India formed a part of which one of
the following reports?
(1) Report of the Caleutta university commission
(2 Report of the University Education commission (1964-66)
] Hartog committee report
i4) Report on standards of University edueation UGC (1965)
Options:
E4E250482587. 1
EAG35048288. 2

64535048289, 3
64535045230, 4

Question Number : 48 Question Id : 64635012272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA | wiE gl %1 seeme w fawn ow faetatan ford | @ e o ford s am 27
(1) wewn vt s 6 fofd
() Tawarme Mo ammm #1 ford (1964-66)
(3) o w= A T
(4 gt et e w1 o aEdh T (1965)

Options:

435045257, 1
64535048288, 2
64535048289, o
64535045290, 4

Question Number : 49 Question Id : 64635012273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following universities is not among the first three that were established

during 18577

(1) Caleutta

(2) Bombay

(3 Delhi

() Madras
Options:

E4535048291. 1
64535048282, 2
645350458233, 3
64535045234, 4

Question Number : 49 Question Id : 64635012273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafefan & 3 $hh-= et 1857 F 209 =i wiars v 9 et 9 38 27
(1) ==
(2 ==
(3 &
4 ===
Options:

645350482591, 1
64535048232, 2
64535048233, 3
EAE35048254. 4

Question Number : 50 Question Id : 64635012274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following Ancient Indian universities, the culture and civilization of Tibet
was bult mainly through the writings of the scholars?

{(l) Nalanda
2 Vikramsila
{3y  Jagaddala
{4y  Mithila
Options:
64535045295, 1
E4E25048288, 2

EAE350482397. 3
E4E350482395. 4

Question Number : 50 Question Id : 64635012274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f=fafem 5 5 fem w=i T favataares & oem: fagal $ oem % 9iom | frem ) w57 o
=M #1 A g @ ?

(1 T

(2)  femsfaren

(3 A

CIR )
Options:

64535048235, 1
64535045236, 2
E4E350482397. 3
E4E350482398. 4
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Question Number : 51 Question Id : 64635012275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1. migz-fefamia 27 WY yida o
(1) wfgz wfols feg fefamms St fedivd =0 yiar
(2) wioz T soovm fomit &t fomoedt
(3) wifaz wifes 7H feforwea 990 & 59w

(4) wioge wst & mardt s wgee fonrfinr

Options:

64835043299, 1
4535048200, 2
64535048201, 5
64535048202, 4

Question Number : 51 Question Id : 64635012275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1. wFigz-fefamms = WY yems &
(1) wigg =iphs fee feforrs J fodbai 27yl
(2) wiog T guoove fomdt & fommedt
(3) wigg nitphn AR fefommoa daf <t 39w

{(4) wmfs vt &t et o= wmee fonrfier

Options:

64535048299, 1
64535048200, 2
64835048201, 2
4535048202, 4

Question Number : 52 Question Id : 64635012276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wig-gut T faos oo gefvs »F &t afs fow w5 39 1'% safor foowr &

(1) w8a, @Ee, TouHy
(2) =oowa, T, AouEdt
{3) wEe, U, Hiager
(4) dioedt, It wo=w

Options:

64535048203, 1
64535045204, 2
64835048205 2
4535045206, 4

Question Number : 52 Question Id : 64635012276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fie-gut = fagz soo otz =T gt ofs fou 7% 35 % <afor foor

(1) =8=, §Ee, ¥99HY
(2) woormg, T, FAEHATH
(3) w=Ee, V&, diggdt
(4) wiggdt, T, woew
Options:
64635045503 1
64635048204, 2
646535048205 2
435048206 4

Question Number : 53 Question Id : 64635012277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fer @i It wiw yfgadmt ow:

(1) wiee, fig, ymdl, uger, yaIn
(2) dgw, fife, vgmr, yadt, aow
(3) dtw, ym=a, W, fifg, ez
(4) wgg, YyAIs, uIEn, yadl, d@d

Options:

64535048207, 1
645350433208, 2
4835043209 2
4535045210 4

Question Number : 53 Question Id : 64635012277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
for @i It wEw yfaadt ow

(1) wgg, fig, y=dt, usear, ywas
(2) dgw, fofe, vgmr, yadt, sow
(3) g, ywgs, wn, foiy, s=aM
(4) wigs, yaIgs, uFET, yadl, dEd

Options:



E4E35048207. 1
64535048208, 2
645350458209, 3
64535045210, 4

Question Number : 54 Question Id : 64635012278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gt Augefs wighg o o Bedl &

{1) nitgar
{2) fenimmr
{3} I
[4) BaHE

Options:

64535045511, 1
64535048212, 2
64535048213 o
64535045214, 4

Question Number : 54 Question Id : 64635012278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et Fugofs wigwe gw ot madt o

{1) nigar
{2) fonimar
(3) T
(4) maEET

Options:

64535048211, 1
4835048212 2
4535045212 2
64535045214, 4

Question Number : 55 Question Id : 64635012279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt - eI |
a) 5238 T g9 i} €99 walsas™
b) ofg ¥ GAw i) HofeRBEEEE
c) waifagsE i} HFEERTE
d) sty iv) gueTe
GudEs =T At HEW o o
(1) a-ii b-i C-iv d - i
(2)a-iv b -iii c-i d-ii
(3) a-iv b - i C - iii d-i
(4) a-ii  b-iv c-ii -

Options:



E4535048215. 1
64535048216, 2
64535048217, 3
645350458218, 4

Question Number : 55 Question Id : 64635012279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt - gt -
a) §=38 ¥ g==9 i} §59 wglaaee
b) ofg T g9 i) HalTRSRE==
c) waifewatE i} HEEEETE
d) sy iv) U=
Sugas = Al HEw d
(1) a-ii b-i C-iv d - i
(2)a-iv b -iii c-i d-ii
(3) a-iv b- i C- il d-i
(4) a-iii b- iv c-ii d- i

Options:

48350482151
45350458216, 2
64535045217, 5
64535048218, 4

Question Number : 56 Question Id : 64635012280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fogs fefamis o= mEog foeewt = A =99 O
(1) Fwe Bi-AZ9W, 3Ws Fa9Fe, AoWE Ao
(2) o=t ooz, »ggs €, geEhr fgedter
(3) witfa, »ifeg wadls, Toss =pM
(4) wgt &ms, SwEendl, wWEHGEH

Options:

E4E35045519. 1
64535048220, 2
64535048321, 5
64535048322, 4

Question Number : 56 Question Id : 64635012280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fags fefamrs ms sEuz feeewt = mdt 299 o
(1) as= Bdft-rzgw, 9o A9E9FG, AGES WO
(2) S&t w93, »img3 o), gEtw e

(3) mihgs, wes wodls, Toss 589

(4) ot B2, SwEewel, wWEtHmEH

Options:

64835048219, 1
4535048220, 2
64535048221, 5
4535048322, 4

Question Number : 57 Question Id : 64635012281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FEa (A) : SP-woSd TUo= Te8s TBT fow ae fofsowme wow gi=
Toumt Fioerdt Ta W vt Suoet GEEE Roeo ¥ Rasdy g5 bt
E =i e |
Tan (R) : faffy =2 fofsome »ms oo ooo =t 7w oot §
fogme fee@e wgdt

thdwz foF faowr @ mt O

(1) (A) Aot & W3 R T8F |

(2) (A) mdft T w3 R wifeg wmat
(3) (A) w3 R =% "t o8

(4) (A) »T R °F 783 oI
Options:

E4635048323. 1

E4635048324. 2

E4E3E048325 3

4535045326, 4

Question Number : 57 Question Id : 64635012281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FE5 (A) : S7-wodgs gooet geme TEw fou 52 fefoows wom gios
Foumit giodtet T8 wE wfmitet Seoet odetE douw € Fasv I et
=i e
@ga (R) : faffy =2 fofsowme »ow gfoe sos =@t wowm aooet 3
fagg faa@e wgdt 41

s foid fooor ¥ =t o
1) (A) 7t & WT R T8F |
2) (A) =t ¥ w3 R wifsa wdt)

3) (A) »Z R ¥ =t 75
) (A) »F R =2 783 ol

Options:
4535045323, 1
64635048324 2



E4E350482325. 3
EA5350482326. 4

Question Number : 58 Question Id : 64635012282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IRt wiEnEige far =g y=Jiz o=t &

(1) 3 w3 i ¥ fgudt-fog aan

(2) fgrdt wag Tw3fgazs gas

(3) oHiga yfegdl =t waal d= @4@s

(4) Feag ¥ =fow ¥ = wan
Options:

645350482327, 1
645350458328, 2
64535048329, 3
E4E35048220. 4

Question Number : 58 Question Id : 64635012282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR wnEigs fam =9 yFtg o= &

(1) 3 w3 =iy ¢ foudt-fg ads

(2) femel wag TrIfeaz adn

{3) guize yfeadt =t gaal 9 @@a

{a) sgaTs ¥ =fowr & g T9s
Options:

E4E35048327. 1
EAE350482328. 2
E4E35048229. 3
645350458220, 4

Question Number : 59 Question Id : 64635012283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UrET Fagoerel »iSde’ o REdd WiEgdl ©F 29d O
(1) Igea frw o9, T9d fRw fifs, =v. qudig few
(2) ofsews By, godts 2 98 By ==

{3} Jfgean fw o, fams fiw, dfeoa fiw o=t
(4) wEg fiw, oty By, fegus fiw aFE

Options:

6483504832211
4535048232 2
64535048222, 5
64535048224, 4

Question Number : 59 Question Id : 64635012283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Uil FogoeTel WiEdeT o8 REdg WiEdgdl o =dd o

(1) ToBa fiw 99, Tod fw fife, = Twdis Wy
{2) ofgeve Ry, modly =, Toew Ry o=g
(3) ofgswe iy o, fams fHw, afdeg W o=t
(4) wEg Wy, »ravts By, faous iy sfE

Options:

64635048231, 1
64535048332, 2
64535048333 2
48350453224 4

Question Number : 60 Question Id : 64635012284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz &t fefsoradft oy 7= 4

(1) Ffrsarat = UgT=E T wWEas

(2) Ay fesy=gr & ug= T sl winis

(3) Aia=e fagsi/ugud &t UETE, HEEE WY TEgHag
(4) Afdga Tt &7 I5EF I anEHd wimEn

Options:
4535045335, 1

E4E35048236. 2
E4E35048237. 3
645350458228, 4

Question Number : 60 Question Id : 64635012284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
migg =t fefsomat = ywiy 7= O:

(1) Ffrzarat = ugTE T wrEuE

(2} Ay fedysy & uyg= WY sofdft i

{3) Aiaze fagst/ugug ot uyETE, HEEE WE TEgHaT
[4) Fifgga gaet 97 IEEE T SEEHT WS

Options:

64535045535 1
64535048236, 2
645350482337, o
64535045335, 4

Question Number : 61 Question Id : 64635012285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fas ((A)) : 99 ft g9 ¥ mivw & soo Woas fee I8t O o fome
Fiftadt ysan feu winat »igg-fouett wimdtt o8 § »@w Tt Aew-
Afgwmag =2t Of wdT Aa AdEl HEd WET BE 2 wifswiz Wouw ¥ yHaE
T5
aga (R) : fagfa fom wim v fefds =gar w3 Afowt om wEftg wor ey
fout guoet § 2t wike i3y faer 30
Gugaz fev mdt T :

(1) (a) 7t O W8 R Tm= |

(2) (A) mdt & w3 R wifae mh

(3) (A) wiZ R =©F wdt Tal

(4) (A) m3 R 23 a®= Ual

Options:

64535048239, 1
64535045340, 2
64535045241, =
4835043242 4

Question Number : 61 Question Id : 64635012285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

#an ((A)) : ¢ ot @g 9@ mive &t goo Hoes few 98 3 ue feme
Fidftest ys9e feu wiowt wigg-fometdt wifadtt 05 F w»ima 991 AWH-
Aigwigrd =g O Bdl A AHET WY WPl BT 8 wiges FEed I YHiae
a5l
aga (R) : fagfa fom mim 2 fofds =gt w3 ffawt o wEfog wor uswt
fowt I9oet 3 & wilE &g far I
Budaz fed wat T

(1) (A) 7t @ w2 R T&F |

(2) (A) =t T WT R wifhgg wh

(3) (A) = R =F wdt O5l
(4) (A} W R =% 78% 75|

Options:

64835048239, 1
64535045240, 2
64535048241, 5
64535045342 4

Question Number : 62 Question Id : 64635012286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Farg TEtT Zhdt Tt T R TEer O

(1) wWREUEM, ReH, vgg fadt
(2) vgr fodt, A=, Al

(3) AT, §En wWdEl, wWEIUET
(4) e wudt, Ugg fast, mRIww

Options:
64535048243, 1



E4E35048244. 2
645350458245, 3
64535045246, 4

Question Number : 62 Question Id : 64635012286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I FEtg obdat Tt T Rt @ O

(1) wWEEUE, waW, ueg fadt
(2} vgr fadt, Aeewr, AW

(3) AT, =2 W], wWEUET
(4) s wudt, Uvg fadfl, AEew

Options:

64535048243, 1
64535045344 2
64835045245 =2
4535045246 4

Question Number : 63 Question Id : 64635012287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g wane ©% oiug et T faosr sow w3
(1) HuHal, Fea wedl, fut
{2} fes afz, faeos, vt
{3} god WY, 9V, AT
(4) d==dl, ARa, HEAl

Options:

46350438247, 1
64535048248, 2
64535045249 =
64535045350, 4

Question Number : 63 Question Id : 64635012287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a7 wono ©s digs et = faog s9a &t &
(1) TEl, TEa wEdt, et
{2) fes afe, foeo3, v
{3) gad HW, 99VE, Ag
(4) g=cdt, AEw, Hont

Options:

4835043347, 1
4535048248 2
64535045249, o
645350482350, 4

Question Number : 64 Question Id : 64635012288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By w7 fog #ftm 2
feg 3T Tuw Hwwl
EEaT I = REg o

(1) ETeE 2 Fie-FRIE 78
(2) AEEE ¥ AHH-FHAZST A8
(3) mgHls feggua s
(4) Tz dfies-7e o8

Options:

64535048351, 1
64535043352 2
64835048352 2
64535045254, 4

Question Number : 64 Question Id : 64635012288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
&g W feg dfiz &
feg 39 gov el
Sud=gz g7 = Aoy O:

(1) ETeE 2 Fie-FRIE 78
(2) AEEE ¥ AHH-FHAZST A8
(3) mgHls feggua s
(4) Tz dfies-7e o8

Options:

64535048351, 1
64535048352, 2
64835045352 =2
4535045254 4

Question Number : 65 Question Id : 64635012289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FHfz iz T WY FIET I&:

(1) vgnEs foEst wE ReEaE
(2) WYY 935 M SHIHBIS
(3) ygElaasr »I A9 degT
(4) AHHasT wWE wiswea-deas
Sugaz foF wft T

(1) m  wm= m
(2) | wE 1}
(3) | e i
(4) m L A
Options:
4835048355, 1
64535045256, 2
64535048357, o
64535045358, 4



Question Number : 65 Question Id : 64635012289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIHfI Ffe T Y AITT Ta:

(1) ygHTEw foEet WE A
(2) WEgE d967 WE SRIHEETT
(3) yaElaaT wT B d=9T
(4) AHHa T WY Fiswegg-deag
tugag foF Wt om

(1} N e m

(2) | WY 1]]

(3) | Bl n

(4) m e IV
Options:

E4E35048355. 1
E45350482356. 2
E45350482357. 3
645350458258, 4

Question Number : 66 Question Id : 64635012290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Howe godt few 88 ww g HEw gy ¥ Jug o A fawe faor O
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(3) a-iv, b4ii, c-, d-ii
(4) a-iv, b4, c4ii, d-i
Options:
64635045455 1
64635048456, 2

64535048437, 3
64535045438, 4

Question Number : 86 Question Id : 64635012310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aEEaE R fi=zest = fagg sgfowt = "t =99 O

(1) yFs BHt §vg, net e, ugw Wod, ¥8W & FH
(2) ot e, fionft <t owm, et Judt foeaft, wow waw
(3) Wit mEE wet, aet fiewn, Fuz ff@, o=t des St
(4) Toor feeaft &t widn, St Jodt e, =Wt oee, dt aist
Options:
64535043439 1
64535043440, 2
64535045441, 3
64535045442 4

Question Number : 86 Question Id : 64635012310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ggEsm fHw Jfize=t ¢ fagn wgfmt =0 mdt =290 &

(1) yFs B8Ht §wa, w=t feerer, uaW Wgd, 89 & TIwe
(2) o=t e, fdoaft &t om, =t ot fHeEht, wee wEy
(3) Hetot nigE wet, met fiew, Auz fife, ouwEt des ST
(4) I fdeaft =t ofte, Bt Jost ffesft, =t &ew, ot ot
Options:
4835043439, 1
4525045440 2
64535045441, o
64535045442 4

Question Number : 87 Question Id : 64635012311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wafne Ut I o9 € oYy g39 O
(1) felofsa s, Twgusasy, Wb
(2) dsgad, Hisghw, wgewe
(3) Bfaaz, HEWdys, FidonT
(4)waforERz, i I35, fofenwr-yzrah

Options:

64535045443, 1
64535045444 2
64535045445 =
64535043446, 4

Question Number : 87 Question Id : 64635012311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WiOfas UAE @EEs g9w € WY yFE =9 e
(1) febpiaa Wishdl, SwgumaT, watadyer
(2) dzgad, Hishn, wmewe
(3) Bfaazr, wanpEr, FEHMT
(4)waferErz, owdt 995, fofenwr-yzrh

Options:

E4E35043443. 1
64535045444, 2
64535045445 o
64535045446, 4

Question Number : 88 Question Id : 64635012312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“frgig Jog 3 Aage & uE mever O f& ¥99d © mevd fouwedt 3 sfesr
few maw, wuE wy fow yRaadt wyrsadt Jor 3 ud I999 few 999 odf
Uer fa G0 wuZ wry fow g8 95 & wg2) faR =g, feuw & o2 @ Faw
Ts, fer few @9 <t wEs O
Suday 99n © Bug W
(1) za8= fFu a7
(z) 37 fHy
(3) ofgsms fHw
(4)afSes fiw go
Options:
646350458447 1
6453504584488 2
54535045449 3
E4E35045450, 4

Question Number : 88 Question Id : 64635012312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“frois dug 3 Aege ¥ uE mReuw J fa eEse T mew fegwed 9 afeT
feg mEe, »uE Wy few yFeogdl wyReaet 90 O ug =99 few 999 odl
Uor fa G0 WuE wy fow g8 08 & uwg<l fan owg, feww & 9 3§ W9
vz, feR few G9 =t memyr 30
@UH_?? gus o Eyg O
(1) 398a fiw d=9
(2) 37 fHy
(3) Ffewa T
(4)afFes v zm
Options:
4535045447 1
E4E2E045448 2
£4E5325048449. 2
£4E635048450. 4

Question Number : 89 Question Id : 64635012313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

1 | L |
a) ggHlT weeEE i) :CE

b) TTFG B! i) UgeHGHT

e) yao fiw i ) TH g™

d) g=niz dig i) ug SEfowdt

Eudas o =t gy faow &
(1) a-iv, bii, c-ii, d-i
(2) a-iii, b-iv, c-i, d-ii
{2) a-v, b4, c4, d-in
{4) a-iv, b, c-iii, d-1

Options:

64535045451, 1
64535045452, 2
64535045453 =
64535043454 4

Question Number : 89 Question Id : 64635012313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt - T -
a) TSHIZ WITH i)  madt
b) TORG EBeS! i) UgeRaHT
e} yas fHw i ) TH TaeTe
d) g=dtz dtg i) ug FEfowt

Sudes = mft @ faos &
(1) a-iv, b4ii, cAii, d-i
(2) a-iii, b-iv, c-i, d-ii
(3) a-iv, b4ii, c-i, d-il
(4) a-v, b, c-iii, d-1

Options:

64535048451, 1
64535043452 2
64835045452 =2
4535045454 4

Question Number : 90 Question Id : 64635012314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fao d= =t o
(1) F¥ Igy -mfys a9
(2) wa @t = mEa - wilE g9
(3) #= &t fomw wier ¥ - yFEI o9
(4) At fege----- =8ty 9 feor

Options:
64535045455 1

E4E35048456. 2
E4E35048457. 3
645350458458, 4

Question Number : 90 Question Id : 64635012314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

farer g wft O
(1) I gy -mfgs a9
(2) sa U9t ° AR9 - wHElT @9
(1) de= Jt o e T - YT 59
(4) gAtet fege----- =Bty F9 feorm

Options:

64535048455, 1
64535045456, 2
64535043457 2
E4E35045458. 4

Question Number : 91 Question Id : 64635012315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
faom de At &t &
(1) myt Bt - dar Ry
(2) aHzE - 7RIz dw
()% F5 - B ey
(@) T - = T i

Options:

4635045459, 1
64535048460, 2
64535045461, =
64535045462, 4

Question Number : 91 Question Id : 64635012315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



faosr ¥ =t & O
(1) ngt PR - fu
(z) 3vHs® - AR=Z T
()3 F5 - Wb o
()T T - T TP

Options:

645350458459, 1
64535045460, 2
64535045461, =
4835043462 4

Question Number : 92 Question Id : 64635012316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gfgavn i =g ¥ WY uwe ow
(1) yaw, yasht, adw, gidh
(2) vadfl, wigwan, as-gidl, dve faadt
(3) Wap fegdt, mon fHaws, We=, ySizasr
(4) =m, om, fofsow W9, T=9 faast

Options:

64535048463, 1
64535045464, 2
4835045465 2
4535045466, 4

Question Number : 92 Question Id : 64635012316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ofggws Ry i @ WY yAg Ow
(1) vy, yEsh, 39R, g
(2) vat, wifmvsn, ss-gidt, Ov9 faadt
(3) Wap feodt, mow fHaws, Wee, yaigasr
(4) =m, om, fofsow du, g9w fhah

Options:

64535043463, 1
E4E35045464. 2
4535045465 =2
64535045466, 4

Question Number : 93 Question Id : 64635012317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wWalosw wie @9 € Y¥ Wod J6:
(1) =oiha ¥97, Fone=.FWH Fow, goms faed
( 2 yniftmmawe S=or, Bt 9o, mow fomet, fsomew
(1) fefawamasr, RA2-Fo9Tr, Wewy 90, AEETEl 99%
(4) »Eftz vym, fowmdiee,ygifzas, el 90

Options:

64835043467, 1
4535045468, 2
64535045469, o
64535045470, 4

Question Number : 93 Question Id : 64635012317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

walosw Fie @9 € 4§ wWoE I8
(1) wafha 997, FoNe=,AHW Ho9, gidms faadt
( 2 \nfftrave S=o, 8fte S, gow foust, fsamee
(3)fefarwoasr, AY-SeoT, wooy 90, maEl 995
(4) w»Eftz um, fowadiee,ygifzas, il 90

Options:

4535045457, 1
64535048468, 2
64535045469, o
64535045470, 4

Question Number : 94 Question Id : 64635012318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gyaeTdt afe war &% Hefgg et o Bt s9ar &

(1) == iy fos, vm, ofdes o<t somo W=
(2) wm, == fiw fem, ¥z Ay, »mfes axE

(3) wz ow GvHl, Tows wews, ®¥ my, &5 Ay fos
(4) v©9us ¥ews, WS Wy, uw, 9 Ry

Options:

64835043471, 1
E4E35048472. 2
64535048472, o
64535045474, 4

Question Number : 94 Question Id : 64635012318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gaeel @ls wor &% AEug werdt o Adl sodr i

(1) =mw by fos, wm, ofdes o, oomo weas

(2) wm, == fHw fom, ¥5 7y, wefos ovs

(3) Wz ow Guml, Tows wews, Wy mg, &% fHu fom
(4) v©9un ¥eas, W3 Ay, wH, 397 Ay

Options:

64635048471, 1
64535048472 2
64535043473 2
E4E35045474. 4

Question Number : 95 Question Id : 64635012319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=fgz fomdt § afer fouzr o gt o fooo g2 =t =T &

(1) votas, otz 89 wadt, wes Jtor, ssdle Wit
(2) Ttz 987 WAdl, Wes 9, mHes B, WS
(3) wodlz o729, =88l winudEl, Hos fowmft, sous
(4) =mfees Ay, ualieg A€, fon fowall, »iEdim
Options:
C4EZE0458475 1
C4EZEQ4R47E. 2

64535048477, 3
64535045475, 4

Question Number : 95 Question Id : 64635012319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=fez fomdt § afer fousr o =gt o fooo 0 =t =T &

(1) voras, godte o859 wadl, wes o, ssdle Wit
(2) otz d8T wwdl, wew dior, mET &, uE
(3) Wowiz I, T@dEte Waudl, Woo foumft, Aous
(4) =mfees wa, udfieg A, Hoo foumft, »iEdim
Options:
64535043475, 1

E4E35048476. 2
EAE35048477. 3
645350458478, 4

Question Number : 96 Question Id : 64635012320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



g5 (A) : wigisa UedE @fes gy gy fou yedt mfie femes e
G g, et Aigwee w3 GOET Ret @ modts Aoz e uE
st ygre & w1
Tga(R) : oy mogwet ggwz oo uAdt It Ut Aoz ¥ deewEt
fegR § &t woe me+le F9s @ wwg few #h
Sugez 9 mO O

(1) AwmftaRaET T

(2) (A) @ R 22 mft 5

(3) (A) 783 W2 R Wt 3

{4) (A) w3 R = @Bz T
Options:
64535043479, 1
64535045450, 2
64535048481, o
64535045482, 4

Question Number : 96 Question Id : 64635012320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tas (A) : wufsey dEdt 3fesr iy gy few vt mfae frewe €9
ECEIT =, Ut Afawmae w3 €8T Rt @ mefis Ao owar uE
et ysr= & gum T

Fga(R) : fPfe mggwet ggwz <ow uAdEt Tt uAdEt Ao ¥ dgenEt
feof 3 Ot ung Hodlz F9s @ wwg feo Hh
Gudas =9 mdt o
(1) AndtdR osz 2
(2) (A B R mft ™
{3) (A) /B2 W R Wt O
{(4) (A) mF R =¥ @Bz T4l
Options:
C4EZE045479 1
C4EZEQd 450 2
C4E3E045451. 2
C4E3E045452. 4

Question Number : 97 Question Id : 64635012321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ygeHt wEtt B mat d@2 O

(1) w=sw dewmet, womw s, fadwe Ry g8, TE#E

(2) wmzw, w39 fRw W3w, dfdee faw, Afdees Aam

(3) 97 79, 99T 5975, J9ided ¥4, 090 509

(4) goew voww, "ifes Aigs, goves iy »rffle, sofves Soo

Options:
645350434583, 1



E4E35048484. 2
645350458485, 3
645350458456, 4

Question Number : 97 Question Id : 64635012321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ygeHl a@tt wr mdt g O
(1) wesa #Weomadt, wase ww, fodns fiw g9, Tgns
(2) wez=, Aow fRw W39, mfges fom, Affor Ao
(3) Tg7 mag, waedT =9, T9fHoT 9, ©99n 509
(4) goew uowe, mffoe figs, gomos ffw »rfte, sofies 995
Options:
645350434533 1
646350484534, 2

E4E35048485. 3
EAE35048456. 4

Question Number : 98 Question Id : 64635012322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RHETE yAEt adhdt @ fgogr de mot O:

(1) 7FE= ¥=@, ARsZ ©i=, wEgm, A, A HE
(2) mes e, windim, muies g, wfiEr e
(z) 7ee #fiw, AT 999, wEdiR, Wides fis
(4)TBides Wo, Woods, vE 99, yF93 o9

Options:

64535043487, 1
E4E35045488. 2
64535045459, 5
64535045490, 4

Question Number : 98 Question Id : 64635012322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RHETE yAEt adhdt @ fgogr de mot O:

(1) 7FE= ¥=@, ARsZ ©i=, wEgm, A, A HE
(2) mes e, windim, muies g, wfiEr e
(z) 7ee #fiw, AT 999, wEdiR, Wides fis
(4)TBides Wo, Woods, vE 99, yF93 o9

Options:

4835048487, 1
4535045488, 2
64535045459, 5
64535045490, 4



Question Number : 99 Question Id : 64635012323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foz & S5-yor® mguet fod &t oF =399 fooot, wie-fil foub, wods wogt 3
Rt gt § v & fom & ofe s &t oue it 0 oo aaw fawer
o
(1) 7. 9Fe fRw 79
(2) I7. Arfe=g fAw
(3)57. Zo&a fHw s=s

(4)57. ofg=ws fHw

Options:

64535045491, 1
64535045492, 2
64535043493 2
4535045494 4

Question Number : 99 Question Id : 64635012323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
foz & g%-ygrr maet fod <t oF mag fa=ol, »=-f8% fout, »ese wiogt ¥
IR B9t § Tar § fom &= o 7w & ouw it o fom oo fawe
b

(1) 37. dmE fRw 79

(z) ¥7. AAfe=g Ry

(3) 7. Soea B =9

(4)5. Tfo=mn fHw

Options:

64535043491, 1
64535045492, 2
64535048492 o
64535045494 4

Question Number : 100 Question Id : 64635012324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I GEIEE |

a) =g fiy e i} #mE o o

b) e wIEh i) =S WM ¥ feaw
c) Afareg Ry i) yaftz

d) vides F9 fom ) Rigws 3 »igw

thges v faos @ =t
() adii, b, civ, il
(2) adiii, b, cii, div
(3) &, biii, i, d-iv

(4) @i, b-iv, ¢, dHii

Options:

645350454595 1
64535045496, 2
64535045497, o
64535045495, 4

Question Number : 100 Question Id : 64635012324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GEIE GEIE |

a) wm Ry qveee i) Tms &t 3

b) <he w3 i) Fws: W ¥ feaw
¢)  wigieg i) wyaftz

d) iiew &9 f¥= iv) fuigrs 3 wiga

thudas = foaoz @ ==t
() @i, b, civ, il
(2) adiii, b, ci, div
(3) a4, biii, ¢, d-v

(4) aii, biv, ci, i

Options:

64535048495, 1
64535045496, 2
64535043497, 2
E4E35043498. 4

Question Number : 101 Question Id : 64635012325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



it a=s owdt fierdls aufss npre e &t oo = yB waw &
(1) wet, fegmas, wot ot Qo
(2) few =gnl, fefsumasr, fegeua
(3) wowerew, ovs, fea Wt fegsiz
(4) woft steft, o=y
Options:
64635048499 1
64635048500, 2

645350458501, 3
64535048502, 4

Question Number : 101 Question Id : 64635012325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ytHa == omgt finrdles arfos wpee o= =t oo = yB woe &
(1) wet, fegmas, wot ot Qo
(2) fem =9ol, fefsowme, fogame
(3) wowegs, ovs, fea dft feasis
(4) wadt ordftet, oo wasr
Options:
64535045493, 1
64635043500, 2

E4535048501. 3
64535048502, 4

Question Number : 102 Question 1d : 64635012326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a5 (A) : woodl Jadl e ¥ fhosim fow vy O dom faommTe,
i, THeGM, Tooet wWy feoms @ soe fom Ot faomtmedt & mom
522 I0|

Fas (R) : fagfs, foeustaos Jadt waw =t &t wifer e yo= 595 3
WAHEY T 3, Ao S aggr fI v T S T yyE S T AEOR T
frasts faos few 7=

Gudaz fag wmat &

(1) A 783 w3 R "t 3

(2) A wifbg Fft & w2 R =t &
(3) A w2 R EFwl oo

(4) A =ft w3 R TEZ ]

Options:

64835048503, 1
4535048504, 2
64535045505, 5
64535048506, 4



Question Number : 102 Question Id : 64635012326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEs (A) : ugeHt Jvrdt mem ¢ foazim fow gy Ot dem faoumoet,
=Eadtet, THedh, Sowet wy foamw @ g9 fom 4t faomimedt & e
522 I51

aan (R) : fabfy, fendtass Vet wmaw =6t a8t ofer susr y=s @95 F

WY for 3, Avgos S e Ty T S I YT I95 T AEOR T
feasts faos few 72

Suges fed wt o

(1) A 383 w3 R "t T

(2) A wifhg Fft & w2 R mft &
(3) AwZRETr T

(4) A /it »F R F=7 3
Options:
64535043503, 1
64535043504, 2
64535048505 2
64535043506, 4

Question Number : 103 Question Id : 64635012327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gides By a3z 2 mest = =t =99 &
(1) UG Yse, da wigs, avet & s9a=, maEr
(2) o &iFR, fem =fowr, B9 Tovs, wew 99
(3) MG usg, He =g, a8t oo, 8a-Teie
(4) T@ wiom, T T Tatw, fos ofew, @uet fisw
Options:
64535048507, 1
645350438508, 2

E4535048509. 3
E4E535048510. 4

Question Number : 103 Question Id : 64635012327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wifes iy o3 ¢ o=t & 7t S99 4
(1) fug dom, o wigs, @wet & soam, Feewr
(2) 7o &, few =fowr, &a oEWa, wrew H99
(3) fug J¥se, s »gat, aigt oo, &a-vRHe
(4) Fa wios, &z T webw, fom =fow, =uEt fiow

Options:
4535048507, 1
64535048508, 2



E4535048509. 3
64535048510, 4

Question Number : 104 Question Id : 64635012328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
faost uym=mw &t wm. feae owg gfeg =T &

(1) T=5 wWEda TEo=8 a9
(2) @@= My 2 sEmad @« waug's 599
(3) Jwdt o/e® T ARfgIT witrHs
(4) v fiw g ugfou
Options:
4535048511,
4535048512,

1
2
64535048513, 3
64535045514, 4

Question Number : 104 Question 1d : 64635012328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faost ur=se 2. we, feoe oo ofeg &df &
(1) ©=s weEgn FETes! @8
(2) =mwa Ay < sesad! @ WEuET &R
(3) uwdEt o/e® T ARlgsa witeHn
(4) v fiw g ugfodt

Options:

4535048511,

4535048512

1
2
645350458513, 3
645350458514, 4

Question Number : 105 Question Id : 64635012329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt vAdh gardaet o faosr 92 At O:

(1) owdlg ¥9, WEUE AW, B9Ed 49 WG, JoHS HeTH
(2) y&= Ay, st sow, =ows die, geuvs ¥5q,

(3) foewos fos, mdfls, meos 9vs, wonits @os

(4) =onw disfadt, 5. 99, ssdis o9 AUT, SEwyd

Options:

64535048515, 1
645350438516, 2
4835048517, 2
45350458518 4



Question Number : 105 Question Id : 64635012329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gt JArdh gordtargt @ fagsr de mat O
(1) ouwdle €3, Wous Ao, TS dd WG, JOWS Hew's
(2) vyew Ay, tor =g, Tous dig, goadn IS4,
(3) fo=uos fiim, gudls, Aeon @on, #OWE 509
(4) =oaw oisfadt, W5 499, ssdi a9 AT, Sy
Options:
£4635048515. 1
64535048516, 2

E4535048517. 3
64535048518, 4

Question Number : 106 Question 1d : 64635012330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
faaz de wt & 3

(1) 99 ¥ 8y5 - =%

(2) Hfg 7=, 75dt 7= - ©H3 99
(3) Gugr wa=s - =

(4) ot - wgEh
Options:

E4E3E045519. 1
EAEZE048520. 2

E4E35048521. 3
EAE35048522. 4

Question Number : 106 Question Id : 64635012330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
faasr g wt &t O

(1) ¥ ¥ 8us - 7=

(2) Hfg 72, 758t 72 - ERT S99

(3) GuT wae - ¥

(4) &g - wsh
Options:
64635045519 1
64635048520 2
64535048521 2
E4E35048522 4

Question Number : 107 Question Id : 64635012331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt - 1 gt -

a) Hut T F7 ToTddt i smos srewm
b) mow ¥ 3t R o g —

c) fo5 fiar mg i) fi=g
L i) TEHIT MEEE
Quias o faow g &

(1) a-ii, b-i, c-iv, d-iii

(2) a-il, b-i, c-il, d-iv

(3) a-iv, b-i, c-ii, d-iii

(4)a-iii, b-iv, c-i, d-ii
Options:
64535043523 1
64535043524 2
64535043525 2
GAR3E048526. 4

Question Number : 107 Question Id : 64635012331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt - gt - 0
a) Fyt =7 g7 SoTobdt i) S=fier o=
b) wHaw =t @t fls &of o= i) TI9Ee fHy
e) fas fHar mgy iy frAeg
d)  wEH iv) TIHIT mEEE

Sudas o faozr gw mat &

(1) ai, b, c-iv, d-ii
(2) a-ii, b-i, c-ii, d-iv
(3) a-iv, b, c-ii, d-ii
(4) ail, biv, ¢, d-ii

Options:

54635048523, 1

64635048524, 2

54635048525, 3

546350458526, 4

Question Number : 108 Question Id : 64635012332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g wmal I3 w3 ‘Tuiew fan Jodt ¥ RS I
I. wEEE=Tt

I uyEEte=t

. wiEtEE

. W St

(1) 1.3 W

(2) n =3 m

(3) m ~HT v

{(4) 1 =3
Options:

64535048527, 1
64535048528, 2
64535048529, 3
64535045530, 4

Question Number : 108 Question Id : 64635012332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘g st o3 w3 ‘mafer fom It ¥ mem Ow:
I. wEgEeTet
I, yEEteTet
.  wigfss
V. W wardt
Sudas = mdt g &

(1) 1.3 W

(2) n =3 m

(3) m =3 W

(4) 1 =31
Options:

E4E35048527. 1
64535048528, 2
645350458529, 3
64535045530, 4

Question Number : 109 Question Id : 64635012333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ygeRr UAE mEsEt e At =299 O
(1) &qai, ygnr, fsgas feedt
(2) o9, AugH, 992 JTE WU Ed
(3) f7 7=, foefodwt & o=, a4
(4) wvodt fogs, ome, fest 98 wo
Options:
C4EZE045551 01
C4E3E04R552. 2

645350458533, 3
64535045534, 4

Question Number : 109 Question Id : 64635012333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
UEH uFHE Hes T Al @99 O
(1) &wai, ugn, fadws et
(2) 4¢3, AuweH, T9T uTEl WUz &
(3) f7 s, foufout & 5=, a6
(4) wmodt fooe, ome, foost 38 wo

Options:

64535045521, 1

64635048532, 2

E4535048533. 3
64535048534, 4

Question Number : 110 Question 1d : 64635012334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UAEl HOT BEel aest =7 Adl He o
(1) iwe waew - iB ufoet & wwzs
(2) wdt = & — ygandt
(3) w=at 3 aWg - T3 TEPA
(4) e »E9 - AT Io9 BF
Options:
645350485351
435048526, 2

EAE35048537. 3
E4535048538. 4

Question Number : 110 Question Id : 64635012334 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



vt Wt et aest w oadft @2 O
(1) Tme waew - fiF e & o
(2) wft = I — ugsndt

(3) m=at 3 aT - T TEb

(4) Twe wE9 - ¥ I=w B

Options:

64535048535, 1
64535048536, 2
64535043537 2
E4E350438538. 4

Question Number : 111 Question Id : 64635012335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AZeEl UE Me daHdl uE ot geg fan fhuimew & & O

(1) o= Ta=g
(2) @ =W
(3) wafes &mEsm

(4) #Fougdy sadt

Options:

64535045559 1
64535048540, 2
64535048541, =
64535045542 4

Question Number : 111 Question 1d : 64635012335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
aZdl Us wWT daHdl ue ot geg fan fhoigew & &t O

(1) o= Tos
(2) &g g@w
(1) wafes EmEs
(4) wougy Tarer

Options:

64635043539, 1
E4E350438540. 2
4535048541, =2
64535048542 4

Question Number : 112 Question Id : 64635012336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘mat FEE T2 = Sunr gew faw Iaaft = sew I3

(1) walsfamras
(2) HeERgga=t
{3) wete=h

(4) wor wadt d9or

Options:

64535048543, 1
64535048544 2
64535048545 =
64535043546, 4

Question Number : 112 Question 1d : 64635012336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘mat AEE FF = Qunr wIx faw Taat = w3

(1) walslaaa
(2) Hewgg==t
{3) oot

(4) wor aadt 9o

Options:

64535043543, 1
E4E35045544 2
64535045545, 5
64535048546, 4

Question Number : 113 Question Id : 64635012337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wel, Hi. der ¥ wea ¥ Rt FEd J:
{1) cﬁhc.mfm.ﬁWE.WFﬁ"{Eﬁ
(2) wusTgr, gow, ©9 Wg, 5% oW At
(3) #ego, By W, 50 WO, AFS Aoas
(4) wg=gr, 59 wa, H = P, ggr &4t

Options:

64535048547, 1

64535043548, 2

64835045549 =2

4535048550 4

Question Number : 113 Question Id : 64635012337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



wEt, HY. @eT ¥ AEl = Rdt 294 O

(1) wdeo, 5y W9, 39 w9, w = et
(2) ws=g, How, =0 WE, 8 TH FHol
(3) wm9=o, ¥y ¥4, S0 Wd, ARE AOdS
(4) wgee, =7 wa, W = fougt, o &dt

Options:

64635048547, 1

64535048545, 2

64535048549, 2

64635048550 4

Question Number : 114 Question Id : 64635012338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et o9 € meat = Rt g o
(1) &9 #g - Faz
(2) a=g ga - w7

(3) fomees fdoae - Iy
(4) TZ #F T 789 - 34T o9

Options:

46350438551, 1
64535048552, 2
64535048553 =
64535045554 4

Question Number : 114 Question 1d : 64635012338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et o9 € wewt = oAt g O
(1) &9 7g - Aa=
(2) a9 gA - Wi

(3} fomemew fdoae - by
(4) Tz #F T 789 - 34T 9

Options:

64835048551, 1
E4E35048552. 2
64535048552 o
64535045554 4

Question Number : 115 Question Id : 64635012339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A o- | IR |

al Fave Afaget i} Fo= mag

b) HE femow wowe i) famr 2 o=t =
c) @M THS Aue i) ¥ =

d) wolE forsdt iv) weEEh

Sudas = fagsr gw mdt I
(1) a-ii, b, c-v, d-iii
(2) adii, b-i, c-ii, d-iv
() a, b-ii, ci, d-iv

(4) @-ii, b-iv, c-i, d-ii

Options:

64535048555, 1
64535043556, 2
E4E35048557. 2
4535045558 4

Question Number : 115 Question Id : 64635012339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt - gt -0

a) Fave Afgget i) FHT ®ug

b) HEe femow yowe i) fifr 2 so=t =
c) oW JHo AEe i) =

d) ol fersd iv) weE

gugas = fagwr gw mdt O
(1) a-ii, b, c-iv, d-iii
(z) a-ii, b-i, c-ii, d-iv
(3) a-, b-lii, ci, d-v

(4) @i, b-iv, c-i, d-ii

Options:

64535048555, 1
64535048556, 2
64835048557 2
4535045558 4

Question Number : 116 Question Id : 64635012340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“roRedt wew AwiEdl me WIEl & e fam & A
(1) sar fagasw
(2) gafenrs iy awer

(3) fyset aw aug
(4) ES9H AOal



Options:

64535048559, 1
4835048560 2
4535048561, 2
64535048562, 4

Question Number : 116 Question Id : 64635012340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“rgredt wew AwiEdt @ WEEl & s fam § A

(1) LEEUMCECES ]
(2) oo Ry SFer
(3) st oW auT
(4) sSo Aaol
Options:
64535048559 1
64535048560, 2
645325048561, 2

E4E25048562. 4

Question Number : 117 Question Id : 64635012341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g (A) wug 08w difes foEt & o WoEt =8 &% v TR Uwdt oew
TH ARWE §5Y aHE ¥ g Hal
TFoa(R) ww Syt fegw 3 fom g &% oo ¥y, off o, oo Ut oew
7 fegw fog sost feew wder
thdee =¥ &t O

(1) AFft 3R TBT D

(2) AWMI R =2 7t 75

(3) A 7t W3 R wifeg wft 2

{(4) A WZ R 22 T&T T5I

Options:

64635048563, 1
64535048564, 2
64535048565 =
E4E35045566. 4

Question Number : 117 Question Id : 64635012341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g (A) wug o@w dites foEt &t o vt =8 &% v o8 JUwdt aew
= 53 Bug fomy 2, Toog wE o o8 & ome O v uo fout § gm=
TH EEEg 5 aHE ¥ gv "ol
Fas(R) ww Tudt fedw ¥ fom g 5% o= T, o o, foo ot oew
T feawm foeg sget feew wdor
Ehudez =9 =it &

(1) Amft ¥ R T 2

(2) AWMIR =T "t o5

{(3) A =t »F R wifEx =t &

{4) A w2 R 22 T53 51

Options:

64535048563, 1
64535048564, 2
64535043565 2
E4E35048566. 4

Question Number : 118 Question Id : 64635012342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aon A a8 fog nis € o2, 78 ¥ @9 ¥ 87 & a6t enz duvw & de
TET & T
(1) =
(2) fewem

(3) &7 femew
(4) =fmy-Taw

Options:

46350438567, 1
64535048568, 2
64535048569 =
64535048570, 4

Question Number : 118 Question 1d : 64635012342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
on A o8 feg nis € o2, 98 ¥ @9 3 87 & 9t onm v # S
gFE= & o
(1) di=
(2) femem

(3) &= fewsmwm
(4) =fm-Taw

Options:

4835048567, 1
4535048568, 2
64535048569, o
64535048570, 4



Question Number : 119 Question Id : 64635012343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ba fefazm & woe-Feg T
(1) foose
{2} FWHeEw
(3) =gEese
(4) wmgee=

Options:

64835048571, 1
E4E35048572. 2
64535048572, 5
64535048574, 4

Question Number : 119 Question Id : 64635012343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ba fefasw = Wog-Fag

(1) foo=w
(2) wHEe
(3) wgde<
(4) wimgeee

Options:

64535048571, 1
4835048572 2
45350485732 2
64535048574, 4

Question Number : 120 Question Id : 64635012344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
B9 moH ¥ 4§ WO O
(1) fag ==
(2) <3 aw

(3) =E5=s @4
(4) @t T

Options:

4535048575, 1
64535048576, 2
64535048577, 2
64535043575, 4

Question Number : 120 Question 1d : 64635012344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B T9H T HE wWOE 3

(1) fu=g &9
(2) =3 =@
(3) TI9=s =

(4) ot =

Options:

4535048575, 1
64535048576, 2
64535048577, 2
64535043575, 4

Question Number : 121 Question 1d : 64635012345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Aievmarga guizas =t yfafewr 2t gfome o

(1) wifgss ygg fog we ufgegss
(2) owatsa vag fog e ufssoos
(3) uwgw fgg wme ufssga=e
(4) Fom few we ufsesss

Options:

64535048579, 1
64535043580, 2
64835048581, 2
64535045582, 4

Question Number : 121 Question Id : 64635012345 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Afewraga guizas =t yfafew & gfewe o

(1) wrfges y=a fou w8 ufseoss
(2) TwatEx ysg feo »E ufsse=w
(3) wow fg9 wE ulgea=e
(4) zom fem w2 ufseoss

Options:

4535045579 1
64535048580, 2
64535048581, o
64535048582, 4

Question Number : 122 Question Id : 64635012346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FEa (A) - 7=9 =8t o, fefgow =3 F9s fan Afewee & feas
=t wooars O 9% 5% fou fome mfewrae o St =t wma St
o 7= Ifde To)
agn (R) - Wiy diwf gaael € yaem Wy few 8=t maw, fefsom
(1) A=z R =2 mft 75
(2) A wft & w3 R OB T
{(3) A mft & w3 R wifw w0
(4) A w2 R =F 78z 79

Options:

E4E35048582 1

E4E35048584 2

E4E35048885 3

E4E3E048EEE. 4

Question Number : 122 Question Id : 64635012346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEa (A) - nad @8t uen, fefsom w3 ga@m fan miewew & fhare
=t wooars Of 95 5% fou feme mfewrae & St =t wmm St
fio I= afdT o=
F95 (R) - WpY i geore’ T ygems Wy fou 881 uow, fefsow
WT FIE Sgdtdt @9 Fo uE 50T 3T AEw
(1) Awz R =2 mft 05
(2) A wf & 3T R awI 2
(3) A mft & wZ R wifew w0
(4} A »¥ R &€ 7m= T6

Options:

64635048553 1

64635048554, 2

64535048585 2

435048556 4

Question Number : 123 Question Id : 64635012347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Bt @ ug oS T owivr AEE gy J A fe9 uge § Hge € = yEw
e fevimidt Gaft oo woe et g Bisw e fot vt 3 e o
fom fommm = o

(1) A7 " s=ro &=t

(2) 7. @as fHu

{3) 7. gonm Ry foe

(4) =fdes wizwyadh
Options:
4835048587, 1
64535048588, 2
64535048589, =



E4E35048530. 4

Question Number : 123 Question Id : 64635012347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘At T oug Tt T owfie AEE w3 AR few umet g ovee T 9= U=
mﬁmﬁmﬁ@aﬁwhﬁﬂ—bﬂgﬁaﬁqﬁwﬁﬁm%m
fam fe=ew = &

(1) #\ " =g &=

{2) = mag fHu

{3) 7. F95=s Ry f&5e

(4) =feeg wigwadt
Options:
64535048587, 1
64535043588, 2
64835048589 2
4535045590, 4

Question Number : 124 Question Id : 64635012348 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot - | &t -
a) wigr gy i) &= gzt =3
b) Tfggwn R i) Wl I wiget
c) wgzw Ry mEg i) JAEE ¥ 3tz
d) FIy fHy dig i) gt gamr

Gudge o wt tHEw O

{(1Ya-ii b-iii c-i d-iv
(2)a-ii b -iii c—=iv d-i
Fa-ii b-iic=1d-iv
@) a-ivb- i c-ii d-ii

Options:

64635048591, 1
64535048592, 2
64535048593 =
4835045594 4

Question Number : 124 Question 1d : 64635012348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gat - | mat -

a) nffizr ffen i} &x st =3

b) ofggwn fRur i) Wl I wWiget
c) FFTE fRy mvEe i) uAEE ¥ aftg
d) Ay fHu g iv) ¥ b

Gudge = wt tHEw O
{(1Ya-ii b-iii c-i d-iv
(2)a-ii b -iii c—=iv d-i
(Fa-ii b-iic=1d-iv
4ja-ivb- i c-ii d-iii
Options:
45250455911
4525048592 2
4525045593 2
C4c3E045594. 4

Question Number : 125 Question Id : 64635012349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ul ARigSt W@ gu few feo-faeet 9 f=dia:
I. foo W7 witw § aaoet &1 Aeteaet o)
. foo sfhme wow & awfe &3 wow § ufos ot 3

. % s57 79 THE=o wE T51
V. fer 199 =nf sowf &t {93 58 Wgw § AWt faer Ji

ez foF fooz 8 =t &

(1) | =2l
(2) ==
(3) ([T Y
(4) | T IV

Options:

64535048595, 1
64535043596, 2
E4E35048597. 2
64535045595, 4

Question Number : 125 Question Id : 64635012349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ut ARlgSt uE gy few feo-faet O =i

I. foo AT wibwr § aaedt &t AStaat 3

. foo shme wow &t ewfe &5 wow g ufos &t 3

n. 5% 59z 73 ovmEE e a8

Iv. fem fe7 =nf ot <t fagg o8 wgy § Amtew fapr JI

Ehdas foF faoz d3 =t &

(1) | = N
{2) w2
(3) M =z v
(4) | =T I

Options:

48350438595, 1
4535048596, 2
64535048597, o
64535048598, 4

Question Number : 126 Question Id : 64635012350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘et o7 fomedt we S=BT umsa o By o

(1) ==hfls Yy
(2) wEa =W

(3) fo999 oM. F9Ao
(4) ¥=70d &8 TF

Options:

64535048599, 1
64535048600, 2
64535048601, =
E4E35045602. 4

Question Number : 126 Question Id : 64635012350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘fagdt Wz fowedt ww SaBe umsa T Buw O

(1) ==z Yy
(2) w#mn IS

(3) fougz #m. TiaEs
(4) 7<% @8 TF

Options:

64835048599, 1
4535048600, 2
64535045601, 5
64535048602, 4

Question Number : 127 Question Id : 64635012351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gar =t Hy yfegdt o9 @99 w4,
frg @as fam feosw — O

(1) =fez fames
(2) wig wadis
(3) miRgs

(4) felogs spwetes

Options:

64835048603, 1
4535048604, 2
64535048605, o
64535048606, 4

Question Number : 127 Question Id : 64635012351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
grT & Hy yfggst So9 G99 == 9,

frg zus fam feoswm = -

(1) Efer fawes
(2) =g wadte
(3) wiRgTs

(4) feGoes =pvElEs

Options:

4535045603 1
64535048604, 2
64535048605, o
64535048606, 4

Question Number : 128 Question Id : 64635012352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AiRgT € Hasut &9 1+1v1r1el = | T fedt-feus wamg fam Fasy 3
ygtfEmm fomr O3

(1) b5=
(=) Zr
(3) feafsm
(4) T

Options:

64535048607, 1

64535048608, 2

4835045609 2

4535045210 4

Question Number : 128 Question Id : 64635012352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AiRgT € Aasdl &9 1+1+1viel = | ¥ fedi-feus nmemg fam Fasu g
ygtfEmm fomr &
(1) Hm
(2) &4
(3) fearfa
(4) adfters

Options:

4535045607, 1
64535048608, 2
64535048609, o
64535045610, 4

Question Number : 129 Question Id : 64635012353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wog fefamms & fooomst fiols wpee foom 82 209 ==t Ot

Options:

4835048611, 1
45350458812, 2
64535048612 5
645350458614, 4

Question Number : 129 Question Id : 64635012353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wog fefamms & feeomet fiols wpee foow §2 209 ==t &t

Options:

646350438611, 1
4835048612, 2
45350488132 2
64535048614, 4

Question Number : 130 Question Id : 64635012354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fife w3 59 ¥ FEG ¥ WOt Ueaw O

(1) How fde - BT 59, aT e - 91 =@
(2) @t e - oIt we, @ e - €% 59
(z) &5 s - Waow w9, Wow Rl - Wow B9
(4) 3= flg-wmy ma, Wow fils - Wow 59



Options:

64535048615, 1
4835048616, 2
4535048617, 2
64535048615, 4

Question Number : 130 Question Id : 64635012354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fife wT g7 ¢ FEOf = = Teaw &
) Hoy g - 3T 59, T file - €49 =9
2) €5t i - &t we, Wi fils - €%t we

(
(
(3) & s - vow ma, How e - How =9
(4) B flg-vow 58, Wow flg - How =9

Options:

64535048615, 1
64535048616, 2
4835048617 2
4535045818 4

Question Number : 131 Question Id : 64635012355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

met - | T - I
a) I I I fofams i) =at 9%
b) vt s e feam i) 3. godiey fRw
¢) et I v fefoow i) = i oyaw R
d) JFEt IEn A9E ¥ g299 iv) fefowr THag wg=

Guiss = foaw @ w3
(1) a-iv, b, c-ii, d-ii
(2) a-i, b-ii, ciii, d-iv
(3) a-ii, b, c-iv, d-iii
(

4) a-i, b-iii, c-v, d-ii

Options:

64535048619, 1
64535048620, 2
4835048621, 2
4535048822, 4

Question Number : 131 Question Id : 64635012355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



b L et - |l

a) IE I T fefymrs i) s 9%

b) waEt I v feaw i) =T ggdiagg fHw

¢) vt g v fofsow i) . i oyaw R

d) vt s mEw ¥ g5=ag iv) fefowr sHag »ig=
Edas = fagr v =1t &

(1) a-iv, b, i, diii

(2) a-i, b, cAiii, d-iv
(3) a-i, b, c-iv, dHii

(4) @, b-iii, c-iv, d-ii

Options:

64535048619, 1
64535043620 2
4835048621, 2
4535048822, 4

Question Number : 132 Question Id : 64635012356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

vt g5 @ feaw @ wesa weRw (1400 . 3w), feam wwwer (1400
- 1700 =), yig wewEr (1700-1850 =) =3 mfose yget =@ sEmer
(1850 &t. ¥ g= %) fou faw foeomw & ST O

(1) 3. Y yawm
(z) 3. +fgied W wwa
(3) 5. gesitas fri

(4)=7. vawdiy fHw fHg

Options:

4635048623, 1
64535048624, 2
64535048625 =
64535048626, 4

Question Number : 132 Question 1d : 64635012356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

yrdt T @ fewm § wese weRw (1400 ¥ 3w), feww wEme (1400
- 1700 #.), yg wema (1700-1850 =) »3F migga yg=et @t weERer
(1850 . ¥ 3= =) fog fam fo==w & Sfow oI

(1) 5. W yaw iy
(2) 3. wfgles fHw waag
(3) 7. oeatas fHu
(4)57. vewwi i g

Options:
64535048623, 1
4835045624, 2



EAE35048625. 3
EAE35048626. 4

Question Number : 133 Question Id : 64635012357 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feft ufgee’ om wAEfaz fagsr &2 mit &
(1) gnft ufgems, st ufae
(z) gt ufge, woot ulssa
(3) Tat-daat ufsemg, o6t ufses
(¢) it ufseme, =o=s ufses

Options:

4535048627, 1
64535048628, 2
64535048629, =
64535043630, 4

Question Number : 133 Question 1d : 64635012357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
feft ufses’ om Fefuz fagsr de "ot &
(1) gft ulfgemg, ot ufss=
(2) gt ufgea, wowt ufesd
(z) Tot-dioat uisems, It uisew
(4) it ufsems, ==z ufses

Options:

64535048627, 1
64535048628, 2
64535043629, 2
4835045620 4

Question Number : 134 Question Id : 64635012358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TSt I fheveave fowags wigne oo feamy mdt O:

(1) 99 == & fow fedvwe oo & =30 gt @

(2) 08 @ &t g9a © wWug HEQE I @ 5= gdt o
(3)WE-FHE ¥ W ®ag an feg wisfae ww-yzdt o 3
(4)79 feg =@ ==37 wwiAg T239 =gRe 7= 3

Options:

4635048631, 1
64535048632, 2
64535048633 =
64535043634, 4

Question Number : 134 Question 1d : 64635012358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



quiIet I fraveava fowags wowe faosr feasy mdt O:
1) 99 T ot fow fedhvs ouo & s=mw o9t 9

(
(2) 79 == = g9a’ ©F WUg AEGS FHT 2 §23¢ ddi o
(3) vI-REt gEE W RIY OB fex wigfaw Bw-y=Et o9t 2
(4)79 fog o9 ==39 Aifag ¥239 wgwe gt o

Options:

64535048631, 1
64535048632, 2
64535043633 2
48350456324, 4

Question Number : 135 Question Id : 64635012359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foos Tt So@ Todt wdteet T ufsew &5 FEg T O

{1) uardt, IediEt, s
(2) vardt, Y, aramewl
(3)\wret, Tradt, wEsEt

Options:

64535048635, 1

64535048636, 2

64535043637, 2

64535045638, 4

Question Number : 135 Question Id : 64635012359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
foos Tt So@ Todt wdteet T ufsew &5 FEg T O

{1) uardt, IediEt, s
(2) vardt, Y, aramewl
(3) Ve, Fat, west

Options:

64535048635, 1

64535048636, 2

4835048637, 2

45350458328, 4

Question Number : 136 Question Id : 64635012360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FH6 (A): o5 fem s 2 feowm =6t fan foim foft & wroSeet § feaflre
Foor Fataw Ot o mE st St oo

Fws (R) : 57 oo gondt wmioedt § vt s om mufos fefowm
Araet & ot feafhe &t @

(1) (A) am= 3 w2 (R) "t 3
(z) (A) w3 (R) =% mt 055 |
(3) (A) w3 (R) 32 am3 T5 |
(4) (A) mat & w3 (R) a®3 & 1

Options:

E4E635048639. 1

E4E835048640. 2

64535045641, 3
EAEZ5048642, 4

Question Number : 136 Question Id : 64635012360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F86 (A): o0 fem s 2 feow =t fan foiw foft & wrodooet § feafrz
Foor Fotaw Ot & ma st St oo

ggs (R) : o Fga gopft »riget g vedt 3w om AEfus fefem
Araet B &t feafs e 3

(1) (A) am= 3 w2 (R) mdt 3
(z) (A) w3 (R) =% mt 055 |
(3) (A) w3 (R) 32 am3 T5 |
(4) (A) mat & w3 (R) a®3 & 1

Options:

E4E635048639. 1

E4E835048640. 2

64535045641, 3
EAEZ5048642, 4

Question Number : 137 Question Id : 64635012361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

vt €y et FEdt Sweret w Rt d2 O
(1) = iy yagu fHw »==2 7. st yaed
(2) = smdle fiw wg w3 3. AR WR A
(3) = #fges fWw ywmg w2 7. T iy &
(4) ootz fiw fis »F 7. uoite fie fifg

Options:

645350458643, 1

64535043644, 2

64535043645 3

G4AE3E048646. 4



Question Number : 137 Question Id : 64635012361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

yrEl §u IRt AEdl dnaret e At de i
(1) = Yy yawm Hw w2 3. i yamd
(2) 7. s=dte i wg =3 7. AR wR a3
(3) = #fdes iy ywim w2 7. T fHy &=
(4) otz ffw iz »% 7. voels fHy g

Options:

64535043643, 1

64535048644 2

64535048645 =

645350458646, 4

Question Number : 138 Question Id : 64635012362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et - | wHEt -
a) Tama fRw g i) et
b) AEga de0 i) Hgar
c) mans fHu iii ) Wetat ¥ Mg
d) 7y fiy mf iv) T 2y

Buydaz = faozr @w wt o

(1) a-ii, b-i, c-iv, d-ii
(2) a-i, b-ii, c-iii, d-iv
(3) a-ii, b, c-iv, d-ii
(4) a-1, b-ii, c-iv, d-ii
Options:
64535048647, 1
64535048648, 2
64535045649 =

64535045650, 4

Question Number : 138 Question 1d : 64635012362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

mat - | -
a) To9wn fHw =g i) wa=
b) AEgs ¥=9 i) HgE
c) mans fHur i) et ¥ ovgd
d) wg fiy of iw) & Ty

Gudez = faus wH At

(1) a-iii, b, c-iv, d-i
(2) a-i, b-ii, c-iii, d-iv
(3) a-ii, b-i, c-iv, d-iii
(4) a-l, b-iii, c-iv, d-ii

Options:



E4E35048647. 1
645350458648, 2
64535045645, 3
64535045650, 4

Question Number : 139 Question Id : 64635012363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
WY AiEwad ¥ wigges diz Aigwee ¥ feafke Iz < 209 Fewew 49 O
I. ygHt AfgwaEa AW fee
Il. vet Afewrarag Auet few
. =g-rfasrews e fow
V. ug-rfesraea mee fow
Qugaz fed faozr de wdt o

{1} (= |
(2) n o=
(1) n = W
(4) =\

Options:
64535045651, 1

E4E35048652. 2
E4E35048653. 3
64535048654, 4

Question Number : 139 Question Id : 64635012363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
iy Afeyeg T wigges diz Aigwew ¢ fegfhg 7= & <09 wgeo fd9 o
I. ygHt Rigwaga AW fee
1. wEgH Aleweaa AR few
m. sg-afewmags mee fog
V.  w-mAfewage s fae
Quaaz few faomr de wmdt

{1} (|

(2) I ==

{3) m wE v

(4) | wWE IV
Options:

64535048651, 1
645350458652, 2
645350458652, 3
E4E35048654. 4



Question Number : 140 Question Id : 64635012364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) wasm T yg =w feg dew, yw guzdt 995 »F ygz =
HAET

Options:

64535048655, 1
64535048656, 2
64535048657, =
4835045658, 4

Question Number : 140 Question Id : 64635012364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) waewm T g W fow dee, v owedt 995 wF yge =
HHET

Options:

64535043655, 1
48350486856, 2
4535045657, 5
64535048658, 4

Question Number : 141 Question Id : 64635012365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TERET & udew &8 fatms =9 39 &

(1) me-ffer 7% 505 =t 9=

(2) y= =w yfs feam fde

(3) u¥E =W wT TRE T AUw fov fsg3g Aew
(4) wE=I8t WT yno-FTuS

Options:

64535045659 1
64535048660, 2
64535048661, o
64535048662, 4

Question Number : 141 Question 1d : 64635012365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



wferler § ugew o8 fobims o 33 &
(1) m=-ffe 7m 5=m ot ==
(2) y= sw yfs feam fde
(3) W® ¥W w3 ¥ © Fuw fog fsgsd Aew
(4) mE=zdt w2 yoo-moun

Options:

64535048659, 1
64535048660, 2
64535048661, o
64535048662, 4

Question Number : 142 Question Id : 64635012366 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
dafegt &t demufsfowr Sow sowE wEe weizg & ges o & g
faos &
(1) fowrz = AR-ff8T usizs =3 wimrz o w=-ffes uoi=w
(2) Uy Fags g3 = fars w3 fraset
(3) wo FAams Few @ g #W »F ses-guT
(4) fows =t we w3 At < &fen
Options:
4535048663, 1
4535048664, 2
E4535048665 2
E4E53E048666. 4

Question Number : 142 Question 1d : 64635012366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
dafewgt &t demufafow Sow Tanz wEe weingt ¥ gest T w5t H§e
fagsr &
(1) fmrz 7 Fe-ff8s usiEg «F wifmre 7 w=-ffes voi=g
(2) g Fams g = faes wT frgee
(3) wo Aams @o =t Wt 95 »F sus-su=
(4) fors &t we w3 5 o sfor
Options:
E4EEE048EE3 1
E4ESE048EE4, 2
E4ESE048EEE,. 2
E4ESE04EEEE, 4

Question Number : 143 Question Id : 64635012367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=, fiwg T wpme 9w fefs O famd o mdt =oar &

(1) froz yam, feew wea, Aoeve
(2) fedt y@w, ydargHa, femEmat
(3) vydarsHa, wioinel, Foeys
(4) »iftois wea, famet, fesoadt



Options:

64535048667, 1
4835045668, 2
4535045869 2
64535048670, 4

Question Number : 143 Question Id : 64635012367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7. fiprg T wigre oW fegs ot famwt o Adt =94 @

(1) fo yas, feeg wea, Faevws
(2) fedit wam, yearawe, fewdmst
{3) vyowarsHw, »ifvhioe=!, AEeus
(4) i Wew, e, feeoed

Options:

E4E250486E67. 1

EAE25048668. 2

64535045669, 3

645350458670, 4

Question Number : 144 Question 1d : 64635012368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
a5 (A): d9-fouz miom = wfpis i o & 31 V9w = mAiElglEw
fefoow fowme dft & A & w2 & Uadt o owT mfoe o fofsom
T@s (R) : fa@fa du-fouzt faf e w2 oo U & wWE T@w w3
dige g Iw)

(1) (A) Iz T »F (R) " T

(z) (A) W3 (R) &€ 782 o5 |

(z) (A) mdt & m3 (R) #1853 4 |

(4)(A) »= (R) €5 wmdl oo |

Options:

4535045671 1
64535048672, 2
64535048673, o
64535048674, 4

Question Number : 144 Question Id : 64635012368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fum (A): de-foedz mioz = wifmim & feor & = vam = mwiglaw
fefaom fawmg &t 7 Ao & w2 & Uadt 9 wT mfog = fefaom)

Fga (R) : fagfs Ju-feust fam mim w3 8 quf ¥ wRE T@w w3
dge It O%

() (A) 7@z T w3 (R) mdt 3

(z) (A) »F (R) &€ 7%z 9% |

(3) (A) "t & m¥ (R) #®7 ¥ |

(4) (A) %F (R) =5 =t 75 |

Options:

64535048671, 1
64535048672, 2
48350486732 2
4535048674 4

Question Number : 145 Question Id : 64635012369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IEAEHE 9 ¥ FU-wWTE © RdT g9 o
(1) Afewrgrag §at € wog 3, I J8 @ wog 3, fefsow @ waw
ES
(2) 843 2 oo 3, yow © wow 3, fem 2 owuw 3

(G)¥g T wrog 3, feR T wrog 3, W T o T
(g)Fam € wog 2, T € wWoE I, oW € wdE 3

Options:
4535045675, 1

EAE3504867E. 2
EAE35048677. 3
E4E35048678. 4

Question Number : 145 Question Id : 64635012369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TESTIHE HW ¥ gU-wroEt © Rt @ O
(1) Rigwrarge §af @ w9 3, gg F& € wag 3, fefsom @ wog
E
(2) Bvw ¥ wog 3, usy © wow 3, foR © owuw 3

(3)%=5 & wog 3, fof & wog 2, Joft ¥ v T
(4)Fe% € »ad 3, I T WO I, GO ¢ wWaE 3

Options:

64535048675, 1
64535048676, 2
E4E35048677. 2
E4E35048678. 4

Question Number : 146 Question Id : 64635012370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘The Rape of Lock” (Pope) yrsw & Jadt foo ‘g=dt oo oy 05 ofe-
wpeTe fam & &= &

Options:

64535048679, 1
64535048680, 2
64535048681, =
645350436382, 4

Question Number : 146 Question 1d : 64635012370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘The Rape of Lock’ (Pope) yr=Zw = Jadt fou ‘gudt 09w faeiy Os afe.
migee o7 & s &

Options:

645350438679, 1
4835048680, 2
4535045681, 5
64535048682, 4

Question Number : 147 Question Id : 64635012371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEI T ¥ §Fd ‘HgIBT T waeed aF i

Options:

4635048683, 1
64535048684, 2
64535048685, =
645350486586, 4

Question Number : 147 Question 1d : 64635012371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TEI TH ¥ Aed ‘AInT T waewd d9F o



Options:

64535048683, 1
48350456384, 2
4535048685 2
645350486586, 4

Sub-Section Number: 2
Sub-Section 1d: 646350582
Question Shuffling Allowed : Yes

Question Id : 64635012372 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (148 to 150)

Cuestion Lakel Comprehension
Jot 75T O3 © wum T (148, 149 mF 150) ymet ¥ €99 o6

‘wzge Gy foiae3s e, A9 vig fewafde = Waw 3 & faf y=t € vo

fou faf fouwow & 3= Tt ¥ wifls 7% fow w€® 75 3 €0 s@ww & o=t &
F € fogt 7 »udt F@ A =t ot 995 Jyae €% few ¥ yme wow 31 fom
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Question Number : 148 Question Id : 64635012373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 149 Question Id : 64635012374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 150 Question Id : 64635012375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Id : 64635012372 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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